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The following table shows account balances under this method beginning at lease commencement:

Date ROU Lease Liability Interest | Depreciation Retained
Asset Expense Expense Earnings
01 Apr 2019 1,81,820 1,81,820 - - -
31 Mar 2020 - - 18,182 1,81,820 -

At adoption, the lessee would record the ROU asset and lease liability at the 1 April 2019 by taking
values from the above table and there will be no impact on retained earnings on the transition date
being 1 April 2019 since under this alternative, ROU Asset is equal to the Lease Liability.

ROU Asset Dr. 1,81,820
To Lease Liability 1,81,820
To initially recognise the lease-related asset and liability as of 1 April 2019.
The following journal entries would be recorded during 2019-20:
Interest expense Dr. 18,182
To Lease Liability 18,182
To record interest expense and accrete the lease liability using the interest method.
Depreciation expense Dr. 1,81,820
To ROU Asset 1,81,820
To record depreciation expense on the ROU asset.
Lease Liability Dr. 2,00,000
To Cash 2,00,000
To record lease payment.

A summary of the lease contract’s accounting (assuming there are no changes due to reassessments) is,

as follows:
Particulars Full Modified Retrospective | Modified Retrospective
Retrospective Approach Approach
Approach (Alternative 1) (Alternative 2)

Opening balance sheet impact as on 1 April 2019:
ROU Asset 1,60,126 1,65,787 1,81,820
Lease Liability 1,78,589 1,81,806 1,81,820
Period ended 31 March 2020 activity:
Cash lease payments 2,00,000 2,00,000 2,00,000
Lease payments recognised:
Interest expense 21,411 18,194 18,182
Depreciation expense 1,60,127 1,65,787 1,81,820
Total periodic expense 1,81,538 1,83,981 2,00,002
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m SUBSTANTIVE SUBSTITUTION RIGHTS

Ans.

Ans.

Ans.

A lessee enters into a ten-year contract with a lessor (freight carrier) to transport a specified quantity
of goods. Lessor uses rail wagons of a particular specification, and has a large pool of similar rail
wagons that can be used to fulfil the requirements of the contract. The rail wagons and engines are
stored at lessor’s premises when they are not being used to transport goods. Costs associated with
substituting the rail wagons are minimal for lessor.

Whether the lessor has substantive substitutions rights and whether the arrangement contains a lease?

In this case, the rail wagons are stored at lessor’s premises and it has a large pool of similar rail wagons
and substitution costs to be incurred are minimal. Thus, the lessor has the practical ability to substitute
the asset. If at any point, the same become economically beneficial for the lessor to substitute
thewagons, he can do so and hence, the lessor’s substitution rights are substantive and the arrangement
does not contain a lease.

RIGHT TO DIRECT USE

Customer M enters into a 20-year contract with Energy Supplier S to install, operate and maintain a
solar plant for M's energy supply. M designed the solar plant before it was constructed — M hired
experts in solar energy to assist in determining the location of the plant and the engineering of the
equipment to be used. M has the exclusive right to receive and the obligation to take any energy
produced. Whether it can be established that M is having the right to control the use of identified
asset?

In this case, the nature of the solar plant is such that all of the decisions-about how and for what
purpose the asset is used are predetermined because:

— the type of output (i.e. energy) and the production location are predetermined in the agreement; and
— when, whether and how much energy is produced is influenced by the sunlight and the design of the

solar plant.

Because M designed the solar plant and thereby predetermined any decisions about how and for what
purpose it is used, M is considered to have the right to direct the use. Although regular maintenance of
the solar plant may increase the efficiency of the solar panels, it does not give the supplier the right to
direct how and for what purpose the solar plant is used. Hence, M is having a right to control the use of
asset.

SUBSTANTIVE SUBSTITUTION RIGHTS

A Customer enters into a ten-year contract with a Company (a ship owner) for the use of an identified
ship. Customer decides whether and what cargo will be transported, and when and to which ports the
ship will sail throughout the period of use, subject to restrictions specified in the contract. These
restrictions prevent the company from sailing the ship into waters at a high risk of piracy or carrying
explosive materials. The company operates and maintains the ship, and is responsible for safe passage.
Does the customer has the right to direct how and for what purpose the ship is to be used throughout
the period of use and whether the arrangement contains a lease?

The customer has the right to direct the use of the ship because the contractual restrictions are merely
protective rights that protect the company’s investment in the ship and its personnel. In the scope of its
right of use, the customer determines how and for what purpose the ship is used throughout the ten-
year period because it decides whether, where and when the ship sails, as well as the cargo that it will
transport.

The customer has the right to change these decisions throughout the period of use and hence, the
contract contains a lease.
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A Lessee enters into a ten-year lease contract with a Lessor to use an equipment. The contract includes
maintenance services (as provided by lessor). The Lessor obtains its own insurance for the equipment.
Annual payments are ¥ 10,000 (% 1,000 relate to maintenance services and T 500 to insurance costs).

The Lessee is able to determine that similar maintenance services and insurance costs are offered by
third parties For ¥ 2,000 and % 500 a year, respectively. The Lessee is unable to find an observable stand-
alone rental amount for a similar equipment because none is leased without related maintenance
services provided by the lessor.

How would the Lessee allcate the consideration to the lease component?

indAs 116 - Leases [ [ENCI Y EEIEG
MALLOCAHON OF LEASE RENTALS

Ans.
The observable stand-alone price for maintenance services is ¥ 2,000. There is no observable stand-alone
price for the lease. Further, the insurance cost does not transfer a good or service to the lessee and
therefore, it is not a separate lease component.

LEASE TERM

A Lessee enters into a non-cancellable lease contract with a Lessor to lease a building. Initially, the

lease is for five years, and the lessee has the option to extend the lease by another five years at the

same rental.

To determine the lease term, the lessee considers the following Factors:

e Market rentals for a comparable building in the same area are expected to increase by 10% over the
ten-year period covered by the lease. At inception of the lease, lease rentals are in accordance with
current market rents.

e The lessee intends to stay in business in the same area for at least 20 years.

e Thelocation of the building is ideal for relationships with suppliers and customers.

What should be the lease term for lease accounting underind AS 116?

Ans.

After considering all the stated factors, the lessee concludes that it has a significant economic incentive
to extend the lease.
Thus, fFor the purpose of lease accounting under Ind AS 116, the lessee uses a lease term of ten years.

____smse [ELEY

0 A Lessee enters into a lease of a five-year-old machine. The non-cancellable lease term is 15 years. The
lessee has the option to extend the lease after the initial 15-year period for optional periods of 12
months each at market rents.

To determine the lease term, the lessee considers the following Factors:

e The machine is to be used in manufacturing parts for a type of plane that the lessee expects will
remain popular with customers until development and testing of an improved model are completed
in approximately 15 years.

e The cost to install the machine in lessee’s manufacturing facility is significant.

e The non-cancellable term of lessee’s manufacturing facility lease ends in 19 years, and the lessee has
an option to renew that lease for another twelve years.

e Lessee does not expect to be able to use the machine in its manufacturing process for other types
of planes without significant modifications.

e The total remaining life of the machine is 30 years.

What should be the lease term for lease accounting under Ind AS 116?

Ans.

The lessee notes that the terms for the optional renewal provide no economic incentive and the cost to
install is significant. The lessee has no incentive to make significant modifications to the machine after
the initial 15-year period. Therefore, the lessee does not expect to have a business purpose for using the
machine after the non-cancellable lease term of 15 years.

Thus, the lessee concludes that the lease term consists of the 15-year non-cancellable period only.
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Ans.

A Company leases a manufacturing facility. The lease payments depend on the number of operating
hours of the manufacturing Ffacility, i.e., the lessee has to pay ¥ 2,000 per hour of use. The annual
minimum payment is ¥ 2,00,00,000. The expected usage per year is 20,000 hours.

Whether the said payments be included in the calculation of lease liability under Ind AS 116?

The said lease contains in-substance fixed payments of ¥ 2,00,00,000 per year, which are included in the
initial measurement of the lease liability under Ind AS 116.
However, the additional ¥ 2,00,00,000 that the company expects to pay per year are variable payments

that do not depend on an index or rate and, thus, are not included in the initial measurement of the
lease liability but, are expensed when the over-use occurs.

LEASE RENTALS : UPFRONT PAYMENT

Jeevan India Limited is in the business of development of smart city. For development of smart city,
Jeevan India Limited allots its land to customer on 99 years of lease. The customer is required to pay
lease premium at the time of execution of lease deed and lease rent on annual basis over a period of 99
years.

The lease premium amount is the market value of land and lease rent is nominal amount say % 1 per
square metre per year. The lease premium is non -refundable. As per the lease terms, on completion of
99 years, the lease is renewable at mutual consent of lessor and lessee.

How would income in respect of lease premium collected by Jeevan India Limited (which is the market
value of land and is not refundable) at the time of execution of lease deed be recognised as per Ind AS, if
for subsequent years, only nominal lease rent is collected. [Nov-2019]

Paragraph 5 of Ind AS 115 scopes out revenue arising from lease agreements.

Principles enunciated under Ind AS 116, Leases would be applicable for revenue arising from leasing
agreements.

Recognition of income in respect of lease would depend on its classification as per Ind AS 116, Leases.
If the lease of land is an operating lease, then it will be accounted for as given below:

o Lessors shall present assets subject to operating leases in their balance sheet according to the
nature of the asset.

o Lease income from operating leases shall be recognised in income on a straight - line basis over
the lease term, unless another systematic basis is more representative of the time pattern in
which use benefit derived from the leased asset is diminished, even if the payments to the
lessors are not on that basis.

The long lease term may be an indication that the lease is classified as a finance lease. IF it is a Finance

lease then lessor Jeevan India Ltd. shall recognise assets held under a finance lease in their balance

sheets and present them as a receivable at an amount equal to the net investment in the lease. The
recognition of finance income shall be based on a pattern reflecting a constant periodic rate of return on
the lessor’'s net investment in the finance lease.

Nominal lease rent collected every year will also be accounted every year on accrual basis.

LEASE & NON-LEASE COMPONENTS

Entity X (lessee) entered into a lease agreement (‘lease agreement’) with Entity Y (lessor) to lease an
entire floor of a shopping mall for a period of 9 years. The monthly lease rent is ¥ 70,000. To carry out its
operations smoothly, Entity X simultaneously entered into another agreement (‘facilities agreement’)
with Entity Y For using certain other facilities owned by Entity Y such as passenger lifts, DG sets, power
supply infrastructure, parking space etc., which are specifically mentioned in the agreement, for monthly
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service charges amounting to ¥ 1,00,000. As per the agreement, the ownership of the facilities shall
remain with Entity Y. Lessee's incremental borrowing rate is 10%.

The Facilities agreement clearly specifies that it shall be co-existent and coterminous with ‘lease
agreement’. The facility agreement shall stand terminated automatically on termination or expiry of
‘lease agreement’.

Entity X has assessed that the stand-alone price of ‘lease agreement’ is ¥ 1,20,000 per month and stand-
alone price of the ‘facilities agreement’ is ¥ 80,000 per month. Entity X has not elected to apply the
practical expedient in paragraph 15 of Ind AS 116 of not to separate non-lease component (s) from lease
component(s) and accordingly it separates non-lease components from lease components.

How will Entity X account for lease liability as at the commencement date? [SM, RTP-Nov-2020]

Ans.

Entity X identifies that the contract contains lease of premises and non -lease component of facilities
availed. As Entity X has not elected to apply the practical expedient as prov ided in paragraph 15, it will
separate the lease and non-lease components and allocate the total consideration of ¥ 1,70,000 to the
lease and non-lease components in the ratio of their relative stand-alone selling prices as follows:

Particulars Stand-alone % of total Stand- Allocation of
Prices alone Price consideration
4 4
Building rent Service 1,20,000 60% 1,02,000
charge Total 80,000 40% 68,000
2,00,000 100% 1,70,000

As Entity X's incremental borrowing rate is 10%, it discounts lease payments using this rate and
the lease liability at the commencement date is calculated as follows:

Year Lease Payment Present value Present value of lease

(A) Factor @ 10% (B) payments (A X B = Q)
Year 1 1,02,000 .909 92,718
Year 2 1,02,000 826 84,252
Year 3 1,02,000 751 76,602
Year 4 1,02,000 .683 69,666
Year 5 1,02,000 621 63,342
Year 6 1,02,000 564 57,528
Year 7 1,02,000 513 52,326
Year 8 1,02,000 467 47,634
Year 9 1,02,000 424 43,248
Lease Liability at commencement date 5,87,316

Further, ¥ 68,000 allocated to the non-lease component of facility used will be recognised in profit or
loss as and when incurred.

SALE AND LEASE BACK AND MORE THAN MARKET PRICE

Venus Ltd (Seller-lessee) sells a building to Mars Ltd (Buyer-lessor) for cash off T 28,00,000. Immediately
before the transaction, the building is carried at a cost of ¥ 13,00,000. At the same time, Seller-lessee
enters into a contract with Buyer-lessor for the right to use the building for 20 years, with an annual
payments of ¥ 2,00,000 payable at the end of each year.

The terms and conditions of the transaction are such that the transfer of the building by Seller-lessee
satisfies the requirements for determining when a performance obligation is satisfied in accordance with
Ind AS 115 "Revenue from Contracts with Customers".
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The fair value of the building at the date of sale ¥ 25,000. Initial direct costs, if any, are to be ignored. The
interest rate implicit in the lease is 12% p.a., which is readily determinable by Seller-lessee. Present Value
(PV) of annual payments (20 payments of ¥ 2,00,000 each discounted @ 12%) is % 14,94,000.

Buyer-lessor classifies the lease of the building as operating lease.

How should the said transaction be accounted by Venus Ltd.? [Nov-2020]

Ans.

Considering facts of the case, Venus Ltd. (seller-lessee) and Mars Ltd. (buyer-lessor) account for the
transaction as a sale and leaseback.

Firstly, since the consideration for the sale of the building is not at fair value, Seller -lessee and Buyer -
lessor make adjustments to measure the sale proceeds at fair value. Thus, the amount of the excess sale
price of ¥ 3,00,000 (as calculated below) is recognised as additional financing provided by Buyer-lessor to
Seller-lessee.

Sale Price: 28,00,000
Less: Fair Value (at the date of sale): (25,00,000)
Additional financing provided by Buyer-lessor to Seller-lessee 3,00,000

The present value of the annual payments is ¥ 14,94,000 (as given in the question).

Out of this ¥ 14,94,000, T 3,00,000 relates to the additional financing (as calculated above) and balance ¥
11,94,000 relates to the lease.

Accounting by Venus Ltd. (seller-lessee):

At the commencement date, Seller -lessee measures the ROU asset arising from the leaseback of the
building at the proportion of the previous carrying amount of the building that relates to the right-of-use
retained by Seller-lessee, calculated as follows:

Carrying Amount A) 13,00,000
Fair Value (at the date of sale) (B) 25,00,000
Discounted lease payments for the 20 year ROU asset (© 11,94,000
ROU Asset [(A/B)xC] 6,20,880

Seller-lessee recognises only the amount of the gain that relates to the rights transferred to Buyer-
lessor, calculated as follows:

Fair Value (at the date of sale) (A) 25,00,000

Carrying Amount (B) 13,00,000

Discounted lease payments for the 20-year ROU asset (© 11,94,000

Gain on sale of building (D)= (A-B) 12,00,000

Relating to the right to use the building retained by Seller-lessee (E)=[(D/A)xC] 5,73,120

Relating to the rights transferred to Buyer -lessor (D-E) 6,26,880

At the commencement date, Seller -lessee accounts for the transaction, as follows:

Bank / Cash A/c Dr. 28,00,000
ROU Asset A/c Dr. 6,20,880

To Building 13,00,000

To Financial Liability 14,94,000

To Gain on rights transferred 6,26,880
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YA LEASE RENTALS WITH FOREIGN CURRENCY FLUCTUATION
=10 Entity X is an Indian entity whose functional currency is Indian Rupee. It has taken a plant on lease from
zam Entity Y for 5 years to use in its manufacturing process for which it has to pay annual rentals in arrears of
""-n USD 10,000 every year. On the commencement date, exchange rate was USD =X 68. The average rate for
"1 Year 1 was X 69 and at the end of year 1, the exchange rate was % 70. The incremental borrowing rate of
Entity X on commencement of the lease for a USD borrowing was 5% p.a.
How will entity X measure the right of use (ROU) asset and lease liability initially and at the end of Year

1? [SM, May-2021]
Ans.

Oninitial measurement, Entity X will measure the lease liability and ROU asset as under:

Year Lease ayments Present Value Present Value of | Conversion rate INR value
(USD) Factor @ 5% Lease Payment (spot rate)

1 10,000 0.952 9,520 68 6,47,360

2 10,000 0.907 9,070 68 6,16,760

3 10,000 0.864 8,640 68 5,87,520

4 10,000 0.823 8,230 68 5,59,640

5 10,000 0.784 7,840 68 533,120

Total 43,300 29,44,400

As per Ind AS 21, The Effects of Changes in Foreign Exchange Rates, monetary assets and liabilities are
restated at each reporting date at the closing rate and the difference due to foreign exchange
movement is recognised in profit and loss whereas non-monetary assets and liabilities carried measured
in terms of historical cost in foreign currency are not restated.

Accordingly, the ROU asset in the given case being a non-monetary asset measured in terms of historical
cost in foreign currency will not be restated but the lease liability being a monetary liability will be
restated at each reporting date with the resultant difference being taken to profit and loss.

At the end of Year 1, the lease liability will be measured in terms of USD as under:

Lease Liability:

Year Initial Value (USD) Lease Payment Interest @ 5% | Closing Value (USD)
(a) (b) (c) = (a x 5%) (d=a+c-b)
1 43,300 10,000 2,165 35,465

Interest at the rate of 5% will be accounted for in profit and loss at average rate of ¥ 69 (i.e., USD 2,165 x
69) =% 1,49,385.

Particulars Dr. R) Cr.(R)
Interest Expense Dr. 1,49,385
To Lease liability 1,49,385
Lease payment would be accounted for at the reporting date exchange rate, i.e.Z 70 at the end of year 1
Particulars Dr. R) Cr.R)
Lease liability Dr. 7,00,000
To Cash 7,00,000

As per the guidance above under Ind AS 21, the lease liability will be restated using the reporting date
exchange rate i.e., ¥ 70 at the end of Year 1. Accordingly, the lease liability will be measured at X
24,82,550 (35,465 x ¥ 70) with the corresponding impact due to exchange rate movement of ¥ 88,765
(24,82,550 - (29,44,400 + 1,49,385 — 700,000) taken to profit and loss.

At the end of year 1, the ROU asset will be measured as under:

Year Opening Balance (3) Depreciation (%) Closing Balance ()
1 29,44,400 5,88,880 23,55,520
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Ans.

period from July, 2020 to September 2020 but to pay rent of 20,000 per month in the period from
January 2021 to March 2021. There are no other changes to the lease.
How this will be accounted for by lessor?

L determines that the reduction in lease payments in July 2020 to September 2020 and the proportional
increase in January 2021 to March 2021 does not result in an overall change in the consideration for the
lease.

L does not account for the change as a lease modification. L continues to recognise operating lease
income on a straight-line basis, which is representative of the pattern in which Z's benefit from use of the
underlying asset is diminished.

IEIYYZAl UNAMORTISED LEASE INCENTIVE: LEASE MODIFICATION (Rent Concession - Amendment)

Ans.

The rental payments are 15,000 per month, payable in arrears. M classifies the lease as an operating
lease. M reimburses K's relocation costs of K of 600,000, which M accounts for as a lease incentive. The
lease incentive is recognised as a reduction in rental income over the lease term using the same basis as
for the lease income —in this case, on a straight- line basis over 10 years.

On 1 April 2020, during the COVID-19 pandemic, M agrees to waive K's rental payments for May, June
and July 2020.

This decrease in consideration is not included in the original terms and conditions of the lease and is
therefore a lease modification.

How this will be accounted for by lessor?

M accounts for this modification as a new operating lease from its effective date —i.e. 1 April 2020. M
recognises the impact of the waiver on a straight-line basis over the five-year term of the new lease. M
also takes into account the carrying amount of the unamortised lease incentive on 1 April 2020 of %
3,00,000. M amortises this balance on a straight-line basis over the five-year term of the new lease.

m MODIFICATION THAT IS NOT A SEPARATE LEASE AND LEASE WOULD HAVE BEEN CLASSIFIED AS

Ans.

x EI AN OPERATING LEASE (Rent Concession - Amendment Related)

Lessor L enters into an eight-year lease of 40 lorries with Lessee M that commences on 1 January 2018.
The lease term approximates the lorries’ economic life and no other features indicate that the lease
transfer or does not transfer substantially all of the risks and rewards incidental to ownership of the
lorries. Assuming that substantially all of the risks and rewards incidental to ownership of the lorries are
transferred, L classifies the lease as a finance lease.

During the COVID-19 pandemic, M's business has contracted. In June 2020, L and M amend the contract
so that it now terminates on 31 December 2020.

Early termination was not part of the original terms and conditions of the lease and this is therefore a
lease modification. The modification does not grant M an additional right to use the underlying assets
and therefore cannot be accounted for as a separate lease.

How this will be accounted for by lessor?

L determines that, had the modified terms been effective at the inception date, the lease term would
not have been for the major part of the lorries’ economic life. Furthermore, there are no other indicators
that the lease would have transferred substantially all of the risks and rewards incidental to ownership
of the lorries. Therefore, the lease would have been classified as an operating lease.
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In June 2020, L accounts for the modified lease as a new operating lease. The lessor L:

a) derecognises the finance lease receivable and recognises the underlying assets in its statement
of financial position according to the nature of the underlying asset —i.e. as property, plant and
equipment in this case; and

b) measures the aggregate carrying amount of the underlying assets as the amount of the net
investment in the lease immediately before the effective date of the lease modification.

REVISED CONSIDERATION IS SUBSTANTIALLY THE SAME AS OR LESS THAN THE ORIGINAL
CONSIDERATION (Rent Concession — Amendment Related)

Retailer Q leases a store in a large retail mall. The rent payable is ¥ 1,00,000 per month. As a result of the
COVID-19 pandemic, Q agrees with the lessor to defer the rent originally due in the months April, 2020
to June, 2020.

As part of this agreement, the rent for the period January, 2021 to March 2021 will be increased by X
1,10,000 per month, which compensates the lessor fFor the deferred rent as adjusted for the time value
of money.

Whether the rent deferral is eligible for the practical expedient if the other conditions are met?

Ans.
The rent deferral satisfies the criteria to apply the practical expedient because:
(1 It is a rent concession occurring as a direct consequence of the pandemic;
(2) Increase in rentals during January, 2021 to March 2021 compensates for the time value of
money;
(3) Rent deferral reduces lease payments originally due on or before 30 June 2021; and
(4) There is no substantive change to other terms and conditions of the lease. Hence, Q considers

applying the practical expedient.

CONSIDER ONLY PAYMENTS THAT WERE ORIGINALLY DUE ON OR BEFORE 30 JUNE, 2021
(Rent Concession — Amendment Related)

Lessee P operates a chain of restaurants and leases several outlets. As a result of COVID-19 pandemic, P
agrees a rent deferral with the lessor.

Under the terms of the rent deferral, rent originally due in the period July 2020 to December 2020 will
be added to the rent due in the period July 2021 to December 2021.

Whether the rent deferral is eligible for the practical expedient if the other conditions are met?

Ans.
The rent deferral satisfies the criteria to apply the practical expedient because:
(1 It is a rent concession occurring as a direct consequence of the pandemic;
(2) Recovery of rentals during July, 2021 to December, 2021 is substantially the same as, or less
than, the consideration for the lease immediately preceding the change;
(3) Rent deferral reduces lease payments originally due on or before 30 June 2021; and
(4) There is no substantive change to other terms and conditions of the lease.

Therefore, P concludes that the rent deferral meets the ‘payments due’ eligibility criterion.

I YT REDUCTION IN RENT PAYMENTS THAT EXTENDS BEYOND 30 JUNE 2021 (Rent Concession -
Amendment Related)

Lessee T leases office buildings from a lessor. As a result of the COVID-19 pandemic, in September 2020,
T agrees a rent concession with the lessor, under which the monthly rent will be reduced by 50% per
month for the 12 months commencing 1 October 2020.

Whether the rent deferral is eligible for the practical expedient if the other conditions are met?
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Ans.

The rent deferral does not satisfies the criteria to apply the practical expedient because out of the listed
eligibility criteria given in para 46B of Ind AS 116, rent deferral reduces lease payments starting from
October, 2020 and reduction will continue till September, 2021 which is beyond 30 June 2021.
Therefore, T is not permitted to apply the practical expedient.

DEFERRAL OF RENT PAYMENTS BY EXTENDING THE LEASE TERM (Rent Concession — Amendment
Related)

A lessee is granted a rent concession by the lessor whereby the lease payments for the period April 2020
to June 2020 are deferred. Three months are added to the end of the lease term at the same monthly
rent, and the lessee repays the deferred rent during those additional months. The rent concession is a
direct consequence of COVID-19.

Whether the rent deferral is eligible for the practical expedient?

The lessee considers applying the practical expedient. In considering whether this rent concession is
eligible for the practical expedient, the lessee notes the following.

Firstly, the revised consideration in the lease is substantially the same as the original —i.e. the condition
in paragraph 46B(a) of Ind AS 116 is met.

Secondly, the rent concession only reduces lease payments originally due in 2020 - i.e. before 30 June
2021 — so the condition in paragraph 46B(b) of Ind AS 116 is met. Thirdly, there is a change in the lease
term — an extension by three months.

There is no explicit guidance on what.is considered ‘substantive’. Judgement will need to be applied,
considering both qualitative and quantitative factors. The lessee assesses that three- month extension at
the end of the lease term with substantially the same lease payments, would not constitute a
substantive change.

Hence, the condition in paragraph 46B(c) of Ind AS 116 is met. Since, the rent concession is a direct
consequence of COVID-19 and all three conditions in paragraph 46B of Ind AS 116 are met, the lessee
concludes that the rent concession is eligible for application of practical expedient.

Y YAN FORGIVENESS OF LEASE PAYMENTS (Rent Concession — Amendment Related)

rt;
|‘. .-

Ans.

Lessee Z entered into a lease contract with Lessor L to lease 1,500 sqm of retail space for five years. The
lease commenced on 1 April 2018 and the rental payments are 100,000 payable quarterly in advance on 1
April, 1 July, 1 October and 1 January. Z's incremental borrowing rate at commencement of the lease is
5% (assume that the interest rate implicit in the lease cannot be readily determined). There are no initial
direct costs, lease incentives or dismantling costs.

Z's business is severely impacted by the COVID-19 pandemic and L and Z negotiate a rent concession. On

1 June 2020, L agrees to provide Z with an unconditional rent concession that allows Z to forego
payment of its rent due on 1 July —i.e. L Forgives Z the rent payment of 100,000 due on 1 July.

What will be the accounting treatment in the books of lessee for rent concessions assuming that it is
eligible for practical expedient?

Z determines that the rent concession is eligible for the practical expedient.

Applying the practical expedient, Z should account for the forgiveness of rent as a negative variable
lease payment. The rent concession is unconditional, so the event that triggers the variable lease
payment is the agreement between Z and L for the rent concession on 1 June 2020.

Therefore, Z accounts for the rent concession as a negative variable lease payment on 1 June. Assuming
that there are no other changes to the lease, Z continues to use the retail space and the right-of-use
asset is not impaired. The lease accounting entries will be as follows:

e recognise the rent concession as a variable lease payment in profit or loss (i.e. record a debit to the
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lease liability and a corresponding credit in the income statement); and
e continue to accrue interest on the lease liability at the unchanged incremental borrowing rate of 5%
(i.e. record a debit to interest expense and a corresponding credit to the lease liability).

After accounting for the impact of the rent concession, Z's lease liability represents the present value of
all Future lease payments owing to L, discounted at the unchanged incremental borrowing rate. Z has
effectively derecognised the portion of the lease liability that has been extinguished by the forgiveness
of the quarterly lease payment due on 1 July 2020.

In addition, Z continues to depreciate the carrying amount of the right-of-use asset, which is unchanged
as aresult of the rent concession.

CLASSIFICATION OF LEASE
Coups Limited availed a Machine on lease from Ferrari Limited. The terms and conditions of the Lease
are as under:

Lease Period is 3 years, Machine costing % 8,00,000.

e Machine has expected useful life of 5 years.

e Machine reverts back to Ferrari Limited on termination of Lease.

e The Unguaranteed Residual value is estimated at ¥ 50,000 at the end of 3™ year.

e 3 equal annualinstallments are made at the end of each year.

e Implicit Interest Rate (IRR) = 10%.

e Present value of % 1 due at the end of 3rd year at 10% rate of interest is 0.7513.

e Present value of Annuity of T 1 due at the end of 3rd year at 10% IRR is 2.4868.

You are required to ascertain whether it is '@ Finance Lease or Operating lLease and also calculate
Unearned Finance Income with the relevant context to relevantInd AS. [Jan-2021]

Ans.

It is assumed that the fair value of the machine on lease is equivalent to the cost of the machine.

(i) A lease is classified as a finance lease if it transfers substantially all the risks and rewards
incidental to ownership of an underlying asset. A lease is classified as an operating lease if it
does not transfer substantially all the risks and rewards incidental to ownership of an
underlying asset.

(ii) Computation of annual lease payment to the lessor

3
Cost of equipment / fair value 8,00,000
Unguaranteed residual value 50,000
Present value of residual value after third year @ 10% (50,000 x 0.7513) 37,565
Fair value to be recovered from lease payments (8,00,000 — 37,565) 7,62,435
Present value of annuity for three years is 2.4868
Annual lease payment =7,62,435 / 2.4868 3,06,593

The present value of lease payment i.e., ¥ 7,62,435 is more than 95% of the fair market value
i.e., ¥ 8,00,000. The present value of minimum lease payments substantially covers the initial
fair value of the leased asset and lease term (i.e. 3 years) covers the major part of the life of
asset (i.e. 5 years). Therefore, it constitutes a finance lease.

(i) Computation of Unearned Finance Income

3
Total lease payments (T 3,06,593 x 3) 9,19,779
Add: Unguaranteed residual value 50,000
Gross investment in the lease 9,69,779
Less: Present value of investment (lease payments and
residual value) (37,565 + 7,62,435) (8,00,000)
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| Unearned finance income 1,69,779

m COVID CONCESSION

Ans.

Ted entered into a lease contract with lessor to lease 2,000 sgm of retail space for 5 years. The rentals
are payable monthly in advance. The lease commenced on 1%t April 2019. In the year 2020, as a direct
consequence of Covid 19 pandemic, Ted has negotiated with the lessor which may results in the
following situations:

o Lessor agrees a rent concession under which the monthly rent will be reduced by 30% per month
for the 12 months commencing 1%*October 2020.
o Ted is granted a rent concession by the lessor whereby the lease payments for the period

October 2020 to December 2020 are deferred. Three months are added to the end of the lease
term at same monthly rent.
o Lessor offers to reduce monthly rent by 50% for the months October 2020 to March 2021 on the
condition that its space is reduced from 2,000 sq m to 1,500 sq m.
Analyze the given situations in the light of Ind AS 116 and comment on whether rent concession
deferral is eligible for practical expedient? [July-2021]

Applicability of practical expedient:
The practical expedient applies only to rent concessions occurring as a direct consequence of the covid-
19 pandemic.

As a practical expedient, a lessee may elect not to assess a rent concession as a lease modification only if
all of the following conditions are met:

(a) the change in lease payments results in revised consideration for the lease that is substantially
the same as, or less than, the consideration for the lease immediately preceding the change;

(b) any reduction in lease payments affects only payments originally due on or before the 30th June,
2021; and

(o) there is no substantive change to other terms and conditions of the contract

Analysis:

Based on above guidance, answer to the'given situations with the lessor would be as follows:

e Lessor agrees a rent concession under which the monthly rent will be reduced by 30% per month
for the 12 months commencing 1st October 2020:

The rent deferral does not satisfy the criteria to apply the practical expedient because out of the

listed eligibility criteria given in Ind AS 116, rent concession reduces lease payments starting from

October, 2020 and reduction will continue till September, 2021 which is beyond 30th June 2021.

Therefore, Ted is not permitted to apply the practical expedient.

e Ted is granted a rent concession by the lessor whereby the lease payments for the period
October 2020 to December 2020 are deferred. Three months are added to the end of the lease
term at same monthly rent:

(a) condition is met since revised consideration in the lease is substantially the same as the
original

(b) condition is met since the rent concession only reduces lease payments originally due in 2020
—i.e. before 30th June 2021.

(c) condition is met since the lessee assesses that three-month extension at the end of the lease
term is with substantially the same lease payments. Hence, it would not constitute a
substantive change.

Since, the rent concession is a direct consequence of COVID-19 and all three conditions are met,

rent concession is eligible for application of practical expedient in this case.

e  Lessor offers to reduce monthly rent by 50% for the months October 2020 to March 2021 on the
condition that its space is reduced from 2,000 sgm to 1,500 sgm:
The rent concession does not satisfy the criteria to apply the practical expedient because out of
the listed eligibility criteria given in Ind AS 116, there is a substantive change to the terms and
conditions of the lease as there is a change in the scope of lease by reducing the space from 2,000
sgm to 1,500 sgm. Therefore, Ted is not permitted to apply the practical expedient.
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(/W A company manufactures specialised machinery. The company offers customers the choice of either
buying or leasing the machinery. A customer chooses to lease the machinery. Details of the arrangement
are as follows:

(i) The lease commences on 1st April, 20X1 and lasts for three years.

(ii) The lessee is required to make three annual rentals payable in arrears of ¥ 57,500.

(iii) The leased machinery is returned to the lessor at the end of the lease.

(iv) The fair value of the machinery is ¥ 1,50,000, which is equivalent to the selling price of the
machinery

(v) The machinery cost ¥ 1,00,000 to manufacture. The lessor incurred costs of ¥ 2,500 to negotiate

and arrange the lease.

(vi) The expected useful life of the machinery is 3 years. The machinery has an expected residual
value of ¥ 10,000 at the end of year three. The estimated residual value does not change over the
term of the lease.

(vii) The interest rate implicit in the lease is 10.19%.

The lessor classifies the lease as a finance lease.

How should the Lessor account for the same in its books of accounts? Pass necessary journal entries.
[RTP-Nov-2022]

Ans.

The cost to the lessor for providing the machinery on lease consists of the book value of the machinery

(% 1,00,000), plus the initial direct costs associated with entering into the lease (X 2,500), less the future

income expected from disposing of the machinery at the end of the lease (the present value of the

unguaranteed residual value of T 10,000 discounted @ 10.19%, being ¥ 7,470). This gives a cost of sale of

% 95,030. The lessor records the following entries at the commencement of the lease

54 54
Lease receivable Dr. 1,50,000
Cost of sales Dr. 95,030
To Inventory 1,00,000
To Revenue 1,42,530
To Creditors/Cash 2,500

The sales profit recognised by the lessor at the commencement of the lease is therefore ¥ 47,500
(% 1,42,530 - 95,030). This is equal to the fair value of the machinery of ¥ 1,50,000, less the book value
of the machinery (% 1,00,000) and the initial direct costs of entering into the lease (% 2,500).

Revenue is equal to the lease receivable (% 1,50,000), less the present value of the unguaranteed residual
value % 7,470).

Year | Lease receivable at Lease Interest Income Decrease In Lease receivable
the beginning payments (10.19% per lease receivable| at the end of year
of year () ®) annum) R) ®) ®)
(a) (b) (c) (d)=(b)-(c) (e)=(a)-(d)
1 1,50,000 57,500 15,285 42,215 1,07,785
2 1,07,785 57,500 10,983 46,517 61,268
3 61,268 57,500 6,232* 51,268 10,000
*Difference is due to approximation
The lessor will record the following entries:
g g
Year 1 Cash/Bank Dr. 57,500
To Lease receivable 42,215
To Interest income 15,285
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Year 2 Cash/Bank Dr. 57,500
To Lease receivable 46,517
To Interest income 10,983
Year 3 Cash/Bank Dr. 57,500
To Lease receivable 51,268
To Interest income 6,232

At the end of the three-year lease term, the leased machinery will be returned to the lessor, who will
record the following entries:

4 4

Inventory Dr. 10,000

To Lease receivable 10,000

Feel Fresh Limited (the Company) is into manufacturing and retailing of FMCG products listed on stock
exchanges in India. One of its products is bathing soap which the Company sells under the brand name
'Feel Fresh'. The Company does not have its own manufacturing Ffacilities for soap and therefore it
enters into arrangements with a third party to procure the soaps. The Company entered into a long
term purchase contract of 10 years with M/s. Radhey. Following are the relevant terms of the contract
with M/s. Radhey.

(i)

(ii)

(iii)

(iv)

M/s. Radhey has to purchase a machine costing ¥ 10,00,000 from the supplier as specified by
the Company. The machine will be customized to produce the soaps as designed by the
Company. This machine cannot be used by M/s. Radhey to produce the soaps for buyers other
than the Company due to the design specifications. The machine has a useful life of 10 years
and the straight line method of depreciation is best suited considering the use of the machine.

The Company will pay % 4.75 per soap for the First year of contract. This is calculated based on

the budgeted annual purchase of 7,00,000 soaps as follows:

Particulars Per soap price
Variable cost of manufacturing 4.00
Cost of machine (% 1,74,015 / 7,00,000 soaps) 0.25
M/s. Radhey's margin 0.50
Per soap cost to the Company 4.75

In case the Company purchases more than 7,00,000 (i.e. budgeted number of soaps) soaps in
the first year then the cost of the machine (i.e. 0.25 per soap) will not be paid for soaps
procured in excess of 7,00,000 units. However, in case Company procures less than budgeted
number of soaps, then the Company will pay the differential unabsorbed cost of the machine,
at the end of the year. For example, if the Company purchases only 6,00,000 soaps in first year
then the differential amount of ¥ 24,015 (1,74,015 - (6,00,000 x 0.25)) will be paid by the
Company to M/s. Radhey at the end of the year. Variable cost will be actualized at the end of
the year.

The cost per soap will be calculated for each year in advance based on the budgeted number of
soaps to be produced each year. An amount of % 1,74,015 shall be considered each year for the
cost of machine for year 1 to year 8 while calculating the cost per soap. Any differential under
absorbed amount shall be paid by the Company to M/s. Radhey at the end of that year. A
charge of ¥ 1,74,015 per annum for the machine is derived using borrowing cost of 8% p.a. For
year 9 and year 10, only variable cost and margins will be paid.

M/s. Radhey does not have any right to terminate the contract but the Company has the right

to terminate the contract at the end of each year. However, if the Company terminates the
contract, it has to compensate M/s. Radhey for any unabsorbed cost of Machine. For example, if
the Company terminates the contract at the end of second year then it has to pay % 10,44,090
(i.e. 1,74,015 per year x 6 remaining years). If it terminates the contract after the 8th year then
the Company does not have to pay the compensation since the cost of the machine would have
been absorbed.
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(v) In the first year, the Company purchases 5,50,000 soaps at¥ 4.75 per soap.
Evaluate the contract of the Company with M/s. Radhey and provide necessary accounting
entries for First year in accordance with Ind AS with working notes. Assume all cash flows occur
at the end of the year. [MTP-Nov-2022]

Ans.

IdentiFication of the contract (by applying para 9 of Ind AS 116)

(a) Identified asset
Feel Fresh Ltd. (a customer company) enters into a long-term purchase contract with M/s
Radhey (a manufacturer) to purchase a particular type and quality of soaps for 10 year period.
Since for the purpose of the contract M/s Radhey has to buy a customized machine as per the
directions of Feel Fresh Ltd. and also the machine cannot be used for any other type of soap,
the machine is an identified asset.

(b) Right to obtain substantially all of the economic beneFits From use of the asset
throughout the period of use
Since the machine cannot be used for manufacture of soap for any other buyer, Feel Fresh Ltd.
will obtain substantially all the economic benefits from the use of the asset throughout the
period of use.

(c) Right to direct the use
Feel Fresh Ltd. controls the use of machine and directs the terms and conditions of the contract
with respect to recovery of fixed expenses related to machine.
Hence the contract contains a lease.

Lease term

The lease term shall be 10 years assuming reasonable certainty. Though the lessee is not contractually

bound till 10th year, i.e., the lessee can refuse to make payment anytime without lessor's permission

but, it is assumed that the lessee is reasonably certain that it will not exercise this option to terminate.

Identification of lease payment
Lease payments are defined as payments made by a lessee to a lessor relating to the right to use an
underlying asset during the lease term, comprising the following:

(a) fixed payments (including in-substance fixed payments), less any lease incentives

(b) variable lease payments that depend on an index or a rate

(o) the exercise price of a purchase option if the lessee is reasonably certain to exercise that
option

(d) payments of penalties for terminating the lease, if the lease term reflects the lessee exercising

an option to terminate the lease
Here in-substance fixed payments in the given lease contract are ¥ 1,74,015 p.a. The present value of
lease payment which would be recovered in 8 years @ 8% would be ¥ 10,00,000 (approx.)
Variable lease payments that do not depend on an index or rate and are not, in substance, fixed are not
included as lease payments. Instead, they are recognised in profit or loss in the period in which the
event that triggers the payment occurs (unless they are included in the carrying amount of another
asset in accordance with other Ind AS).
Hence, lease liability will be recognized by ¥ 10,00,000 in the books of Feel Fresh Ltd. Since there are no
payments made to lessor before commencement date less lease incentives received from lessor or
initial direct costs incurred by lessee or estimate of costs for restoration / dismantling of underlying
asset, the right of use asset is equal to lease liability.

Journal Entries

On initial recognition
ROU Asset Dr. 10,00,000
To Lease Liability

10,00,000

To initially recognise the Lease Liability and the corresponding ROU Asset

] 0
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Interest Expense Dr. 80,000

To Lease Liability 80,000
To record interest expense and accrete the lease liability using the effective interest method
(% 10,00,000 x 8%)
Depreciation Expense (10,00,000 / 10 years) Dr. 1,00,000

To ROU Asset 1,00,000
To record depreciation on ROU using the straight-line method (% 10,00,000 / 10 years)
Lease Liability Dr. 1,74,015

To Bank / M/s. Radhey 1,74,015
To record lease payment
Cost of soap Dr. 24,75,000

To Bank / M/s. Radhey {5,50,000 x (4 + 0.5)} 24,75,000
To record variable expenses paid as cost of the goods purchased

‘ ‘ NOTES

~N

\

9
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CHAPTER IND AS ON ASSETS OF THE FINANCIAL

STATEMENTS
Ind AS 23
BORROWING COSTS

Borrowing Costs

XN 50RROWING COSTS : EFFECTIVE INTEREST RATE

Fee Ltd. borrows a sum of % 20 crore from Coffee Ltd., repayable as a single bullet payment at the end
of 5 years. The interest thereon @ 5% p.a. is payable at yearly rests. Since the marketis 8%, Fee Ltd. paid
% an origination fee of ¥ 2.40 crores to Coffee Ltd. to compensate Coffee Ltd. for the lower rate of
interest. Apart from the above, there are no other transactions between the two parties. You are
required to show the value at which Coffee Ltd., would recognize the loan and the annual interest
thereon. [Previous SM]

Ans.

The fair value of the Loan to Coffee Ltd. is the present value of the interest it will receive over the
next 5 years and the present value of repayment at the end of 5th year.

P.V. of interest discounted @ 8% =[(20,00,00,000 x 5%) x 3.9926] = T 3,99,26,000 (A)
P.V. of principal amount =7 20,00,00,000 discounted @8%
=¥ 20,00,00,000 x 0.6806 =13,61,20,000 (B)

Fair Value of Loan (A + B) i.e. ¥ 17,60,46,000 (i.e. approximately T 17,60,00,000 which is loan amount net
of origination fee)

Therefore, Coffee Ltd will recognize the loan at ¥ 17.60 crores only.
Coffee Ltd will recognize the interest using the effective interest rate method as worked out below:

Year Amortised | Interestincome Total Payment Amortised

Cost (Opening| @ 8% to be received | Cost (Closing
Balance) recognised Balance)

(1 (2) (3) (4) (5)=03)-(4)

1 17,60,00,000 1,40,80,000 | 19,00,80,000 1,00,00,000| 18,00,80,000

2 18,00,80,000 1,44,06,400 | 19,44,86,400 1,00,00,000| 18,44,86,400

3 18,44,86,400 1,47,58,912 | 19,92,45,312 1,00,00,000| 18,92,45,312

4 18,92,45,312 1,51,39,625 | 20,43,84,937 1,00,00,000| 19,43,84,937

5 19,43,84,937 1,56,15,063* | 21,00,00,000 21,00,00,000 Nil

*Note: The interest in the 5th year, has been adjusted in accordance to the value received on closure.

BORROWING COSTS : FOREIGN CURRENCY LOANS

ABC Ltd. has taken a loan of USD 20,000 on April 1, 20X1 for constructing a plant at an interest rate of
5% per annum payable on annual basis.

On April 1, 20X1, the exchange rate between the currencies i.e USD Vs INR was ¥ 45 per USD. The
exchange rate on the reporting date i.e March 31, 20X2 is ¥ 48 per USD.

The corresponding amount could have been borrowed by ABC Ltd from State bank of India in local
currency at an interest rate of 11% per annum as on April 1, 20X1.

Compute the borrowing cost to be capitalized for the construction of plant by ABC Ltd. (Assume B. Cost
incurred is fully to be capitalized. + Avg. Rate = Cl. Spot Rate) [MTP-May-2022]
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Ans.

F AET l Ind AS 23 - Borrowing Costs

In the above situation, the Borrowing cost needs to determine for interest cost on such foreign currency
loan and eligible exchange loss difference if any.
(a) Interest on Foreign currency loan for the period : USD 20,000 x 5% = USD 1,000

Convertedin ¥ : USD 1,000 x T 48/USD = T 48,000

Increase in liability due to change in exchange difference : USD 20,000 x (48 - 45) =% 60,000

(b) Interest that would have resulted if the loan was taken in Indian Currency:
USD 20,000 x ¥ 45/USD x 11% =¥ 99,000
(o) Difference between Interest on Foreign Currency borrowing and local Currency borrowing :

% 99,000 (-) 48,000 = % 51,000
Hence, out of Exchange loss of ¥ 60,000 on principal amount of foreign currency loan, only exchange loss
to the extent of ¥ 51,000 is considered as borrowing costs.
Total borrowing cost to be capitalized is as under :

(a) Interest cost on borrowing 3 48,000
(b) Exchange difference to the extent considered to be

an adjustment to Interest cost < 51,000

< 99,000

The exchange difference of ¥ 50,000 has been capitalized as borrowing cost and the remaining ¥ 9,000
will be expensed off in Statement of Profit and loss.

BORROWING COSTS : FOREIGN CURRENCY LOANS
Sun Co-operative Society Ltd. has borrowed a sum of US$12.50 million at the commencement of the

- financial year 2016-2017 for its solar energy project at LIBOR (London Interbank Offered Rate) of 1% +

4%. The interest is payable at the end of the respective financial year. The 'loan was availed at the then
rate of ¥ 45 to the US dollar while the rate as on 315t March, 2017 is ¥ 48 to the US dollar. Had Sun Co-
operative Society Ltd. borrowed the Rupee equivalent in India, the interest would have been 11%. You
are required to compute ‘Borrowing Cost'. Also,show the amount of exchange difference as per
prevailing Ind AS. [Previous SM]

Computation of Borrowing Cost as per Ind AS 23 " Borrowing Costs” and Amount of Exchange Difference
as per Ind AS 21 “"The Effects of Changes in Foreign Exchange Rates™:
(@) Interest for the period2016-2017
= USS 12.5 million x 5% x ¥ 48 per USS = % 30 million
(b) Increase in the liability towards the principal amount
=US $ 12.5 million x T (48 - 45) =¥ 37.5 million
() Interest that would have resulted if the loan was taken in Indian currency
=US$ 12.5 million x ¥ 45x 11% =% 61.875 million
(d) Difference between interest on local currency borrowing and foreign currency borrowing
=% 61.875 million - T 30 million =3 31.875 million.

Therefore, out of ¥ 37.5 million increase in the liability towards principal amount, only ¥ 31.875 million
will be considered as the borrowing cost. Thus, total borrowing cost would be ¥ 61.875 million being the
aggregate of interest of ¥ 30 million on foreign currency borrowings plus the exchange difference to the
extent of difference between interest on local currency borrowing and interest on foreign currency
borrowing of ¥ 31.875 million. Hence, T 61.875 million would be considered as the borrowing cost to be
accounted for as per AS 16 and the remaining ¥ 5.625 million (37.5 — 31.875) would be considered as the
exchange difference to be accounted for as per AS 11.
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Capitalisation
YN CAPITALISATION : COMMENCEMENT DATE

(i) 15 May 20X1: Loan interest relating to the project starts to be incurred
(i) 2 June 20X1 : Technical site planning commences

(iii) 19 June 20X1 : Expenditure on the project started to be incurred

(iv) 18 July 20X1 : Construction work commences

Identify commencement date.

Ans.

In the above case, the three conditions to be tested for commencement date would be: Borrowing cost
has been incurred on: 15 May 20X1

Expenditure has been incurred for the asset on : 19 June 20X1

Activities necessary to prepare asset for its intended use or sale: 2 June 20X1

Commencement date would be the date when the above three conditions would be satisfied in all i.e 19
June 20X1

CAPITALISATION : SPECIFIC BORROWINGS

Marine Transport Limited ordered 3 ships for its fleet on April 1, 20X0. It pays a down payment of 25% of
the contract value of each of the ship out of long term borrowings from a scheduled bank. The delivery
has to commence from the financial year 20X7. On March 1, 20X2, the ship builder informs that it has
r commenced production of one ship. There is'no progress on other 2 ships. Marine Transport Limited
prepares its financial statements on financial year basis.

Is it permissible for Marine Transport Limited to capitalise any borrowing costs for the financial year
ended March 31, 20X1 or March 31, 20X2.

Ans.

As per paragraph 5 of Ind AS 23, a qualifying asset is an asset that necessarily takes a substantial period
of time to getready for its intended use or sale.

As per paragraph 17 of Ind AS 23, an entity shall begin capitalising borrowing costs as part of the cost of
a qualifying asset on the commencement date. The commencement date for capitalisation is the date
when the entity first meets all of the following conditions:

(@) It incurs expenditures for the asset. (b) It incurs borrowing costs.

(0) It undertakes activities that are necessary to prepare the asset for its intended use or sale.

The ship is a qualifying asset as it takes substantial period of time for its construction. Thus the related
borrowing costs should be capitalised.

Marine Transport Limited borrows funds and incurs expenditures in the form of down payment on April
1, 20X0. Thus condition (a) and (b) are met. However, condition (c) is met only on March 1, 20X1, and that
too only with respect to one ship. Thus there is no capitalisation of borrowing costs during the financial
year ended March 31, 20X1. Even during the financial year ended March 31, 20X2, borrowing costs
relating to the ‘one’ ship whose construction had commenced from March 1, 20X2 will be capitalised
from March 1, 20X2 to March 31, 20X2. All other borrowing costs are expensed.

YA cAPiraLISATION : SPECIFIC BORROWINGS

In May, 2016, Speed Ltd. took a bank loan to be used specifically for the construction of a new Factory
building. The construction was completed in January, 2017 and the building was put to its use
e immediately thereafter. Interest on the actual amount used for construction of the building till its
completion was 18 lakhs, whereas the total interest payable to the bank on the loan for the period till
31st March, 2017 amounted to ¥ 25 lakhs. Can ¥ 25 lakhs be treated as part of the cost of factory
building and thus be capitalized on the plea that the loan was specifically taken for the construction of
factory building? [Previous SM]
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Ind AS 23 states that capitalization of borrowing costs should cease when substantially all the activities
necessary to prepare the qualifying asset for its intended use are complete. Therefore, interest on the
amount that has been used for the construction of the building upto the date of completion (January,
2017) i.e. ¥ 18 lakhs alone can be capitalized. It cannot be extended to % 25 lakhs.

CAPITALISATION : SPECIFIC BORROWINGS

3= Alpha Ltd on 1% April 20X1 borrowed 9% ¥ 30,00,000 to finance the construction of two qualifying
; "'* assets. Construction started on 1st April 20X1. The loan facility was availed on 1%t April 20X1 and was
; utilized as Follows with remaining funds invested temporarily at 7%..

Factory Building

Office Building

1st April 20X1
1st October 20X1

5,00,000
5,00,000

10,00,000
10,00,000

Ans.

Calculate the cost of the asset and the borrowing cost to be capitalized.

Particulars

Factory Building

Office Building

Borrowing Costs
Less: Investment Income

(10,00,000%9%) 90,000
(5,00,000%7%6/12(17,500)

(20,00,000%9%) 1,80,000
(10,00,000*7%6/12(35,000)

72.500 1,45,000
Cost of the asset:
Expenditure incurred 10,00,000 20,00,000
Borrowing costs 72,500 1,45,000
Total 10,72,500 21,45,000

m CAPITALISATION : GENERIC BORROWINGS: CAPITALISATION RATE
X Limited has a treasury department that arranges funds for all the requirements of the Company
- including funds For working capital and expansion programs. During the year ended March 31, 20X2, the
Company commenced the construction of a qualifying asset andincurred the following expenses:

Date Amount ()
July 1, 20X1 2,50,000
December 1, 20X1 3,00,000
The details of borrowings and interest thereon are as under:
Particulars Average Balance () Interest ()
Long term loan @ 10% 10,00,000 1,00,000
Working capital loan 5,00,000 65,000
15,00,000 1,65,000

Compute the borrowing costs that need to be capitalised.

Ans.

The capitalisation rate is:

Total borrowing costs / Weighted average total borrowings: 1,65,000/15,00,000 = 11% Interest will be

capitalised as under:

—On < 2,50,000 @ 11% p.a. for 9 months =% 20,625
— On ¥ 3,00,000 @ 11% p.a. for 4 months =¥ 11,000

m CAPITALISATION : GENERIC BORROWINGS: CAPITALISATION RATE
(Accounting year - Calender year)
An entity constructs a new office building commencing on 1st September, 2018, which continues till 31st

%y r December, 2018 (and is expected to go beyond a year). Directly attributable expenditure at the
8} beginning of the month on this asset are T 2 lakh in September 2018 and ¥ 4 lakh in each of the months

of October to December 2018.
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Ind AS 23 - Borrowing Costs l _

The entity has not taken any specific borrowings to finance the construction of the building but has
incurred finance costs on its general borrowings during the construction period. During the year, the
entity had issued 9% debentures with a face value of ¥ 30 lakh and had an overdraft of ¥ 4 lakh, which
increased to % 8 lakh in December 2018. Interest was paid on the overdraft at 12% until 1st October, 2018
and then the rate was increased to 15%.

Calculate the capitalization rate for computation of borrowing cost in accordance with Ind AS 'Borrowing

Cost'. [Nov-2019]
Ans.
Calculation of capitalization rate on borrowings other than specific borrowings
Nature of general | Period of outstanding Amount of Rate of Weighted average
borrowings balance loan interest p.a. | amount of interest
R) ()

a b C d=[(bxc)x(a/12)]
9% Debentures 12 months 30,00,000 9% 2,70,000
Bank overdraft 9 months 4,00,000 12% 36,000
2 months 4,00,000 15% 10,000
1 month 8,00,000 15% 10,000
46,00,000 3,26,000

Weighted average cost of borrowings
={30,00,000 x(12/12)} + {4,00,000 x (11/12)} + {8,00,000 x (1/12)}
=34,33,334
Capitalisation rate = (Weighted average amount of interest / Weighted average of general
borrowings) x 100
=(3,26,000 / 34,33,334) x 100 = 9.50% p.a.

mCAPITALISATION : GENERIC BORROWINGS

(& Beta Ltd had the following loans in place at the end of 31st March, 20X2:

(Amounts in ¥ 000s)
Loan 15t April, 20X1 31 March, 20X2
18% Bank Loan 1,000 1,000
16% Term Loan 3,000 3,000
14% Debentures - 2,000

14% debenture was issued to fund the construction of Office building on 1st July, 20X1 but the
development activities has yet to be started.

On 1st April, 20X1, Beta ltd began the construction of a Plant being qualifying asset using the existing
borrowings. Expenditure drawn down for the construction was: ¥ 500,000 on 1st April, 20X1 and X
2,500,000 on 1st January, 20X2.

Calculate the borrowing cost that can be capitalised for the plant.

Ans.
Capitalisation rate (18% x 1,000) + (16% x 3,000) 16.5%
1,000 + 3,000 1,000 + 3,000
Borrowing Costs (500,000 x 16.5%)+(2,500,000 x16.5% x 3/12) %1,85,625

Capitalisation rate for above illustration could also be calculated with the following approach by
assigning weights to the borrowings:

Particulars Loan Weighted average Interest rate Capitalisation
(a) (b) rate (a*b)
18% Bank Loan 1,000 25% 18% 4.5%
16% Term Loan 3,000 75% 16% 12%
Total 4,000 100% 16.5%

Answer in both the approaches would be same as can be seen from the above two solutions.
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mCAPITALISATION : GENERIC BORROWINGS (Calender year Accounting year)

4 H

Ans.

& An entity constructs a new head office building commencing on 1st September 20X 1, which continues

till 31st December 20X1. Directly attributable expenditure at the beginning of the month on this asset

The entity has not taken any specific borrowings to finance the construction of the asset but has
incurred finance costs on its general borrowings during the construction period. During the year, the
entity had issued 10% debentures with a face value of T 20 lacs and had an overdraft of ¥ 500,000, on 15t
Sept. 20X1 which increased to ¥ 750,000 in December 20X1. Interest was paid on the overdraft at 15%
until 1 October 20X1, then the rate was increased to 16%.

Calculate the capitalization rate for computation of borrowing cost in accordance with Ind AS 23
‘Borrowing Costs'. [RTP-May-2018]

Since the entity has only general borrowing hence Ffirst step will be to compute the capitalisation rate.
The capitalisation rate of the general borrowings of the entity during the period of construction is
calculated as follows:

Finance cost on ¥ 20 lacs 10% debentures during September — December 20X1 % 66,667
Interest @ 15% on overdraft of ¥ 5,00,000 in September 20X1 36,250
Interest @ 16% on overdraft of ¥ 5,00,000 in October and November 20X1 13,333
Interest @ 16% on overdraft of ¥ 750,000 in December 20X1 10,000
Total finance costs in September — December 20X1 96,250

Weighted average borrowings during period
= (20,00,000 x 4) + (500,000 x 3) + (750,000 x 1) =¥ 25,62,500
4
Capitalisation rate = Total finance costs during the construction period / Weighted average borrowings
during the construction period
=96,250/ 25,62,500 = 3.756%

IEREN c/PiTALISATION : GENERIC & SPECIFIC BORROWINGS

& K Ltd. began construction of a new building at an estimated cost of ¥ 7 lakh on 1st April, 20X1. To

finance construction of the building it obtained a specific loan of ¥ 2 lakh from a financial institution at

;j aninterest rate of 9% per annum.

The company’s other outstanding loans were:

Amount Rate of Interest per annum
Z7,00,000 12%
Z9,00,000 1%

The expenditure incurred on the construction was:

April, 20X1 < 1,50,000
August, 20X1 < 2,00,000
October, 20X1 < 3,50,000
January, 20X2 < 1,00,000

The construction of building was completed by 31st January, 20X2. Following the provisions of Ind AS 23

‘Borrowing Costs’, calculate the amount of interest to be capitalized and pass necessary journal entry

for capitalizing the cost and borrowing cost in respect of the building as on 31st January, 20X2.

(Assume asset in a QA and specific borrowings were paid off on 31 Jan 20X2 when QA was RTU)
[RTP-Nov-2018]
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Ind AS 23 - Borrowing Costs l _

Ans.
(i) Calculation of capitalization rate on borrowings other than specific borrowings
Amount of loan (3) Rate of Amount of interest (%)
interest

7,00,000 12% = 84,000

9,00,000 1% = 99,000

16,00,000 1,83,000

Weighted average rate of interest = 11.4375%

(1,83,000/16,00,000) x 100

(ii) Computation of borrowing cost to be capitalized for specific borrowings and general
borrowings based on weighted average accumulated expenses

Date of incurrence | Amount | Financed Calculation 4
of expenditure spent | through
1st April, 20X1 1,50,000 | Specific borrowing | 1,50,000 x 9% x 10/12 11,250
1st August, 20X1 2,00,000 | Specific borrowing | 50,000 x 9% x 10/12 3,750
General borrowing | 1,50,000 x 11.4375% x 6/12| 8,578.125
1st October, 20X1 3,50,000 | General borrowing | 3,50,000 x;11.4375% x 4/12| 13,343.75
1st January, 20X2 1,00,000 | General borrowing [ 1,00,000 x 11.4375% x 1/12| 953.125
37,875

Note: Since construction of building started on 1st April, 20X1, it is presumed that all the later
expenditures on construction of building had been incurred at the beginning of the respective

month
(iii) Total expenses to be capitalized fFor building
4
Cost of building  (1,50,000 + 2,00,000 + 3,50,000 + 1,00,000) 8,00,000
Add: Amount of interest to be capitalized 37,875
8,37,875
(iv) Journal Entry
Date Particulars 4 3
31.1.20X2 | Building account Dr. | 8,37,875
To Bank account 8,00,0000
To Interest payable (borrowing cost) 37,875
(Being expenditure incurred on construction of
building and borrowing cost thereon capitalized)

Note: In the above journal entry, it is assumed that interest amount will be paid at the year end.
Hence, entry for interest payable has been passed on 31.1.20X2.

Alternatively, Following journal entry may be passed if interest is paid on the date of
capitalization:
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Date Particulars 4 54

31.1.20X2 Building account Dr. 8,37,875

To Bank account 8,37,875
(Being expenditure incurred on
construction of building and borrowing
cost thereon capitalized)

IEEYREN CAPiTALISATION : SPECIFIC TO GENERIC BORROWINGS

Ans.

On 1st  April, 20X1, A Ltd. took a 8% loan of % 50,00,000 for construction of building A which is
repayable after 6 years ie on 31st March 20X7. The construction of building was completed on 31st
March 20X3. A Ltd. started constructing a new building B in the year 20X3-20X4, for which he used his

- existing borrowings. He has outstanding general purpose loan of ¥ 25,00,000, interest on which is

payable @ 9% and % 15,00,000, interest on which is payable @ 7%.
Is the specific borrowing transferred to the general borrowings pool once the respective qualifying
asset is completed? Why

Yes. If specific borrowings were not repaid once the relevant qualifying asset was completed, they

become general borrowings for as long as they are outstanding.

The borrowing costs that are directly attributable to obtaining qualifying assets are those

borrowing costs that would have been avoided if the expenditure on the qualifying asset had not been

made. If cash was not spent on other qualifying assets, it could be directed to repay this specific loan.

Thus, borrowing costs could be avoided (that is, they are directly attributable to other qualifying assets).

e When general borrowings are used for qualifying assets, Ind AS 23 requires that, borrowing costs
eligible for capitalisation is calculated by applying a capitalisation rate to the expenditures on
qualifying assets.

e The amount of borrowing costs eligible for capitalisation is always limited to the amount of actual
borrowing costs incurred during the period.

m CAPITALISATION : LAND AND BUILDING

-

o
L

On 1st April, 20X1, entity A contracted for the construction of a building for ¥ 22,00,000. The land
under the building is regarded as a separate asset and is not part of the qualifying assets. The building
was completed at the end of March, 20X2, and during the period the following payments were made to
the contractor:

Payment date Amount (3 '000)
15t April, 20X1 200
30 June, 20X1 600
315t December, 20X1 1,200
315t March, 20X2 200
Total 2,200
Entity A's borrowings at its year end of 31st March, 20X2 were as follows:
a. 10%, 4-year note with simple interest payable annually, which relates specifically to the project;

debt outstanding on 31st March, 20X2 amounted to ¥ 7,00,000. Interest of ¥ 65,000 was
incurred on these borrowings during the year, and interest income of ¥ 20,000 was earned on
these funds while they were held in anticipation of payments.

b. 12.5% 10-year note with simple interest payable annually; debt outstanding at 1st April,
20X1 amounted to X 1,000,000 and remained unchanged during the year; and
C. 10% 10-year note with simple interest payable annually; debt outstanding at 1st April,

20X1 amounted to X 1,500,000 and remained unchanged during the year.
What amount of the borrowing costs can be capitalized at year end as per relevant Ind AS?
[Nov-2019, MTP-Nov-2020]
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Ind AS 23 - Borrowing Costs l _

Ans.

As per Ind AS 23, when an entity borrows funds specifically for the purpose of obtaining a qualifying
asset, the entity should determine the amount of borrowing costs eligible for capitalisation as the actual
borrowing costs incurred on that borrowing during the period less any investment income on the
temporary investment of those borrowings.

The amount of borrowing costs eligible for capitalization, in cases where the funds are borrowed
generally, should be determined based on the capitalisation rate and expenditure incurred in obtaining a
qualifying asset. The costs incurred should first be allocated to the specific borrowings.

Analysis of expenditure:

Date Expenditure Amount allocated in Weighted for period
(X'000) general borrowings outstanding

(X'000) (3'000)

1st April 20X1 200 0 0

30th June 20X1 600 100* {100 x 9/12 = 75

31st Dec 20X1 1,200 1,200 | 1,200 x 3/12 = 300

31st March 20X2 200 200 | 200 x 0/12 = 0

Total 2,200 375

Specific borrowings of ¥ 7,00,000 fully utilized on 1st April & on 30th June to the extent of ¥ 5,00,000
hence remaining expenditure of ¥ 1,00,000 allocated to general borrowings.
The capitalisation rate relating to general borrowings should be the weighted average of the borrowing
costs applicable to the entity’s borrowings that are outstanding during the period, other than
borrowings made specifically For the purpose of obtaininga qualifying asset.

Capitalisation rate = (10,00,000 x 12.5%) + (15,00,000 x 10%) = 11%
10,00,000 + 15,00,000

Borrowing cost to be capitalized: Amount

R)
On specific loan 65,000
On General borrowing (3,75,000 x 11%) 41,250
Total 1,06,250
Less: interest income on specific borrowings (20,000)
Amount eligible for capitalization 86,250
Therefore, the borrowing costs to be capitalized are ¥ 86,250.

IS EEN CAPITALISATION : MONTHLY CAPITALISATION

Growth Ltd. has undertaken a project for expansion of capacity as per the following details:

Plan ) Actual (R)
October, 2015 5,00,000 4,00,000
November, 2015 6,50,000 7,95,000
December, 2015 20,00,000 -
January, 2016 2,00,000 50,000
February, 2016 9,00,000 2,00,000
March, 2016 10,00,000 12,00,000

The company pays to its bank interest at a rate of 15% p.a., which is debited on a monthly basis.
During the half year, company had % 20 lakhs overdraft up to 31stDecember, surplus cash in January
and again overdraft of ¥ 14 lakhs from 1.2.2016 and % 30 lakhs from 1.3.2016. The company had a
strike during December and hence could not continue the work during said period. However, the
substantial administrative work related to the project was continued. Onsite work was again
commencedon 1stJanuary and all the work were completed on 315 March. Assume that expenditure

was incurred on 1stday of each month.

Calculate interest to be capitalized giving reason wherever necessary. Assume overdraft will be less, if
there is no capital expenditure.

[Previous SM]
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Solution assuming no substantial work carried during strike. Correct solution - refer board notes.

Growth Ltd.
Month Actual Expenditure Interest capitalized Cumulative amount
®) (9] (9]
October, 2015 4,00,000 5,000 4,05,000
Nov., 2015 7,95,000 15,000 12,15,000
Dec., 2015 - - 12,15,000
January, 2016 50,000 - 12,65,000
February,2016 2,00,000 17,500 14,82,500
March, 2016 12,00,000 33,531 27,16,031
26,45,000 71,031
Note:

1. As per Ind AS 23, ‘Borrowing Cost’, An entity shall suspend capitalisation of borrowing costs
during extended periods in which it suspends active development of a qualifying asset.
Assuming that strike would lead to suspension of active development of work in the month of
December the interest for that period i.e. for the month of December has not beencapitalized.

2. During January, the company did not incur any interest as there was surplus cash in January.
Therefore, no amount should be capitalized during January.

3. During February, actual overdraft (borrowings) was 14 lakhs only. Hence, interest of 17,500 on
14,00,000 has been calculated even though actual'expenditure on project exceed 14 lakhs.

CSINI-B CAPITALISATION OF BORROWING COST

20[E] X Ltd. commenced the construction of a plant (qualifying asset) on 1t September, 20X1, estimated to
gFwcE g cost T 10 crores. For this purpose, X has not raised any specific borrowings,/rather it intends to use
':"a:ﬁ_r;_._ general borrowings, which have a weighted average cost of 11%. Total borrowing costs incurred during
‘WA the period, viz., 15t September, 20X1 to 31st March, 20X2 were % 0.5 crore.

The other relevant details are as follows: R in crore)
Month Cost of construction Accrued Cash outflows (paid in advance at
the start of each month)
September 1.50 3.00
October 0.50 1.70
November 1.50 2.50
December 0.50 -
January 1.80 1.00
February 0.70 B
March 3.00 1.50

Based on the above information, discuss the treatment of borrowing cost as per cash outflow basis and

accrual basis and also suggest the appropriate amount of interest that should be capitalised to the

cost of the plant in the financial statements for the year ended 31 March, 20X2? [RTP-May-2022]
Ans.

Paragraph 14 of Ind AS 23, inter-alia, states that to the extent that an entity borrows funds generally
and uses them for the purpose of obtaining a qualifying asset, the entity shall determine the amount
of borrowing costs eligible for capitalisation by applying a capitalisation rate to the expenditures on
that asset. The capitalisation rate shall be the weighted average of the borrowing costs applicable to
all borrowings of the entity that are outstanding during the period. However, an entity shall exclude
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Ind AS 23 - Borrowing Costs l _

from this calculation borrowing costs applicable to borrowings made specifically for the purpose of
obtaining a qualifying asset until substantially all the activities necessary to prepare that asset for its
intended use or sale are complete. The amount of borrowing costs that an entity capitalises during a
period shall not exceed the amount of borrowing costs it incurred during that period.

In this context, a question arises whether such expenditure should be based on costs accrued or actual
cash outflows. To contrast these two alternatives, presented below is the computation of borrowing
costs based on both the alternatives:

Cash outflows
Cost of A ital idin ad A ital
Month Tl verage capita (paid in advance verage capita
expenditure at the start of expenditure
Accrued
each month)
September 1.50 1.50x7/12=0.875 | 3.00 3.00x7/12=1.75
October 0.50 0.50x 6/12=0.25 1.70 1.70x 6/12=0.85
November 1.50 1.50x5/12=0.625 | 2.50 2.50x5/12=1.04
December 0.50 0.50x4/12=0.17 - -
January 1.80 1.80x3/12=0.45 1.00 1x3/12=0.25
February 0.70 0.70x2/12=0.12 - -
March 3.00 3.00x 1/12=0.25 1.50 1.50x1/12=0.125
9.50 2.74 9.70 4.02

If the average capital expenditure on the basis of costs accrued is taken, the borrowing costs eligible to
be capitalised would be ¥ 2.74 crore x 11% = 0.30 crore. Whereas, if average capital expenditure on the
basis of cash flows is taken, the borrowing costs eligible to be capitalised would be ¥ 4.02 crore x 11%
0.44 crore. Thus, there is a wide variance in the amount of borrowing cost to be capitalised, based on
the accrual basis and on actual cash flows basis. This divergence is often experienced during the
implementation of large projects, for example, an advance given to a supplier involves an upfront cash
outflow while the actual expenditure accrues in later periods (with the receipt of goods and services).
As per paragraph 18 of Ind AS 23, expenditures on a qualifying asset include only those expenditures
that have resulted in payments of cash, transfers of otherassets or the assumption of interest-bearing
liabilities. Expenditures are reduced by any progress payments received and grants received in
connection with the asset (see Ind AS 20, Accounting for Government Grants and Disclosure of
Government Assistance). The average carrying amount of the asset during a period, including
borrowing costs previously capitalised, is normally a reasonable approximation of the expenditures to
which the capitalization rate is applied in that period.

Where cash has been paid but the corresponding cost has not yet accrued interest becomes payable on
payment of cash. Therefore, the amount so paid should be considered for determining the amount of
interest eligible For capitalisation, subject to the Fulfillment of other conditions prescribed in
paragraph 16 of Ind AS 23. Accordingly, in the present case, interest should be computed on the basis
of the cash flows rather than on the basis of costs accrued. Therefore, the amount of interest eligible
for capitalisation would be ¥ 0.44 crore.

Another important factor to be noted is that paragraph 14 requires, inter alia, that the amount of
borrowing costs that an entity capitalises during a period shall not exceed the amount of borrowing
costs it incurred during that period. Thus, the amount of borrowing costs to be capitalised should not
exceed the total borrowing costs incurred during the period, that is % 0.5 crore.

SISNYAN CAPITALISATION : GROUP COMPANIES

] In a group with Parent Company “P” there are 3 subsidiaries with following business:
“A" — Real Estate Company
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e Parent Company has no operating activities of its own but performs management functions for its
subsidiaries.

e Financing activities and cash management in the group are coordinated centrally.

e Finance Company is a vehicle used by the group solely for raising finance.

e All entities in the group prepare Ind AS financial statements.
The following information is relevant for the current reporting period 20X1-20X2:

Real Estate Company

e Borrowings of ¥ 10,00,000 with an interest rate of 7% p.a.

e Expenditures on qualifying assets during the period amounted to % 15,40,000.

e All construction works were performed by Construction Company. Amounts invoiced to Real Estate
Company included 10% profit margin.

Construction Company
e No borrowings during the period.
e Financed X 10,00,000 of expenditures on qualifying assets using its own cash resources.

Finance Company
e Raised X 20,00,000 at 7% p.a. externally and issued a loan to Parent Company for general corporate
purposes at the rate of 8%.

Parent Company

e Used loan from Finance Company to acquire-a new subsidiary:

e No qualifying assets apart from those in Real Estate Company and Construction Company.

e Parent Company did not issue any loans to other entities during the period.

What is the amount of borrowing costs eligible for capitalisation in the financial statements of each of
the four entities for the current reporting period 20X1-20X2?

Ans.

Following is the treatment as per Ind AS 23:

Finance Company

No expenditure on qualifying assets have been incurred, so Finance Company cannot capitalise
anything.

Real Estate Company
Total interest costs in the financial statements of Real Estate Company is ¥ 70,000. Expenditures
on qualifying assets exceed total borrowings, so the total amount of interest can be capitalised.

Construction Company
No interest expense has been incurred, so Construction Company cannot capitalise anything.

Consolidated financial statements of Parent Company:
Total general borrowings of the group: ¥ 10,00,000 + ¥ 20,00,000 =< 30,00,000
Although Parent Company used proceeds from loan to acquire a subsidiary, this loan cannot be excluded
from the pool of general borrowings.
Total interest expenditures for the group =3 30,00,000 x 7% =% 2,10,000
Total expenditures on qualifying assets for the group are added up. Profit margin charged by
Construction Company to Real Estate Company is eliminated:
Real Estate Company —% 15,40,000/1.1 =% 14,00,000
Construction Co-% 10,00,000
Total consolidated expenditures on qualifying assets:
% (14,00,000 + 10,00,000) =% 24,00,000
Capitalisation rate = 7%
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Ind AS 23 - Borrowing Costs l

Borrowing costs eligible for capitalisation =3 24,00,000 x 7% =% 1,68,000

Total interest expenditures of the group are higher than borrowing costs eligible for capitalisation
calculated based on the actual expenditures incurred on the qualifying assets. Therefore, only ¥ 1,68,000
can be capitalised.

BORROWING COST

How will you capitalise the interest when qualifying assets are funded by borrowings in the nature of
bonds that are issued at discount?

Y Ltd. issued at the start of year 1, 10% (interest paid annually and having maturity period of 4 years)
bonds with a face value of % 2,00,000 at a discount of 10% to finance a qualifying asset which is ready
forintended use at the end of year 2.

Compute the amount of borrowing costs to be capitalized if the company amortizes discount using
Effective Interest Rate method by applying 13.39% p.a. of EIR. [SM, May-2021]

Ans.

Capitalisation Method

As per the Standard, borrowing costs may include interest expense calculated using the effective
interest method. Further, capitalisation of borrowing cost should cease where substantially all the
activities necessary to prepare the qualifying asset for its intended use or sale are complete.

Thus, only that portion of the amortized discount should be capitalised as part of the cost of a
qualifying asset which relates to the period during which acquisition, construction or production of the
asset takes place.

Capitalisation of Interest
Hence based on the above explanation the amount of borrowing cost of year 1 & 2 are to be capitalised
and the borrowing cost relating to year 3 & 4 should be expensed.

Quantum of Borrowing

The value of the bond to Y Ltd. is the transaction price ie ¥ 1,80,000 (2,00,000 — 20,000)

Therefore, Y Ltd will recognize the borrowing at ¥ 1,80,000.

Computation of the amount of Borrowing Cost to be Capitalised

Y Ltd will capitalise the interest (borrowing cost) using the effective interest rate of 13.39% for two
years as the qualifying asset is ready for intended use at the end of the year 2, the details of which are

as follows:
Year Opening Interest expense @ Total Interest Closing
Borrowing 13.39% to be capitalised paid Borrowing
(1) (2) (3) (4) (5)=(3)-(4)
1 1,80,000 24,102 2,04,102 20,000 1,84,102
2 1,84,102 24,651 2,08,753 20,000 1,88,753
48,753

Accordingly, borrowing cost of ¥ 48,753 will be capitalized to the cost of qualifying asset.

ADDITIONAL PRACTICE QUESTIONS

Qualifying Asset
m QUALIFYING ASSET : CHEESE

=] A company deals in production of dairy products. It prepares and sells various milk products like ghee,

":EE!:-F butter and cheese. The company borrowed funds from bank for manufacturing operation. The cheese

% State whether borrowing costs incurred to finance the production of inventories (cheese) that have a
long production period, be capitalised?
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Ind AS 23 does not require the capitalisation of borrowing costs for inventories that are manufactured in
large quantities on a repetitive basis. However, interest capitalisation is permitted as long as the
production cycle takes a ‘substantial period of time’, as with cheese.

IEEIERN QuALIFYING ASSET : SOFTWARE

i@ A company is in the process of developing computer software. The asset has been qualified for
: ' recognition purposes. However, the development of computer software will take substantial period of

time to complete.

(i) Can computer software be termed as a ‘qualifying asset’ under Ind AS 23?
(ii) Is management intention considered when assessing whether an asset is a qualifying asset?
(i) Yes. An intangible asset that takes a substantial period of time to get ready for its intended use

or sale is a ‘qualifying asset’. This would be the case for an internally generated computer
software in the development phase when it takes a ‘substantial period of time’ to complete.

(ii) Yes. Management should assess whether an asset, at the date of acquisition, is ‘ready for its
intended use or sale’. The asset might be a qualifying asset, depending on how management
intends to use it. For example, when an acquired asset can only be used in combination with a
larger group of fixed assets or was acquired specifically for the construction of one specific
qualifying asset, the assessment of whether the acquired asset is a qualifying asset is made on a
combined basis.

XN QUALIFYING ASSET : LICENSE

A telecom company has acquired a 3G license. The licence could be sold or licensed to a third party.

A Should borrowing costs on the acquisition of the 3G license be capitalised until the network is ready for

its intended use?

Yes. The license has been exclusively acquired to operate the wireless network. The fact that the license
can be used or licensed to a third party is irrelevant. The acquisition of the license is the first step in a
wider investment project (developing the network). It is part of the network investment, which meets
the definition of a qualifying asset under Ind AS 23.

QUALIFYING ASSET : PERMIT & EQUIPMENT
A real estate company has incurred expenses for the acquisition of a permit allowing the construction
of a building. It has also acquired equipment that will be used for the construction of various buildings.

Can borrowing costs on the acquisition of the permit and the equipment be capitalised until the

% construction of the building is complete?

With respect to Permit
Yes, since permit is specific to one building. It is the first step in a wider investment project. It is part of
the construction cost of the building, which meets the definition of a qualifying asset.

With respect to Equipment
No, since the equipment will be used for other construction projects. It is ready for its ‘intended use’ at
the acquisition date. Hence, it does not meet the definition of a qualifying asset.
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Ind AS 23 - Borrowing Costs l _

Nikka Limited has obtained a term loan of T 620 lacs for a complete renovation and modernisation of its
Factory on 1°t April, 20X1. Plant and Machinery was acquired under the modernisation scheme and
installation was completed on 30" April, 20X2. An expenditure of ¥ 510 lacs was incurred on installation
of Plant and Machinery, T 54 lacs has been advanced to suppliers for additional assets (acquired on 25th
April, 20X1) which were also installed on 30th April, 20X2 and the balance loan of ¥ 56 lacs has been used
for working capital purposes. Management of Nikka Limited considers the 12 months period as
substantial period of time to get the asset ready for its intended use.

The company has paid total interest of ¥ 68.20 lacs during financial year 20 X1-20X2 on the above loan.
The accountant seeks your advice how to account for the interest paid in the books of accounts. Will
your answer be different, if the whole process of renovation and modernization gets completed by 28
February, 20X2? [SM, RTP-Dec-2021]

As per Ind AS 23, Borrowing costs that are directly attributable to the acquisition, construction or
Aqr production of a qualifying asset form part of the cost of that asset. Other borrowing costs are
-. ': recognised as an expense.

" Where, a qualifying asset is an asset that necessarily takes a substantial period of time to get ready for
its intended use or sale.

Accordingly, the treatment of Interest of ¥ 68.20 lacs occurred during the year 20X1-20X2 would be as
follows:
(i) When construction of asset completed on 30" April, 20X2

The treatment for total borrowing cost of ¥ 68.20 lakh will be as follows:

Purpose Nature Interest to be Interest to be

capitalised | charged to profit

and loss account

Zin lakh % in lakh
Modernisation and renovation | Qualifying [68.20 x (510/620)]
of plant and machinery asset =56.10
Advance to suppliers for Quialifying [68.20 x (54/620)]
additional assets asset =5.94

Working Capital Not a qualifying [68.20 x (56/620)]

asset =6.16

62.04 6.16

(ii) When construction of assets is completed by 28" February, 20X2
When the process of renovation gets completed in less than 12 months, the plant and
machinery and the additional assets will not be considered as qualifying assets (until and unless
the entity specifically considers that the assets took substantial period of time For completing
their construction). Accordingly, the whole of interest will be required to be charged off /
expensed off to Profit and loss account.

LMl Harish Construction Company is constructing a huge building project consisting of four phases. It is
expected that the full building will be constructed over several years but Phase | and Phase Il of the
building will be operational as soon as they are completed.

Following is the detail of the work done on different phases of the building during the current year:
(Tin lakh)
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Phasel | Phase Phase Phase
] 1] v
4 4 4 4
Cash expenditure 10 30 25 30
Building purchased 24 34 30 38
Total expenditure 34 64 55 68
Total expenditure of all phases 221
Loan taken @ 15% at the beginning of the year 200

After taking substantial period of construction, at the mid of the current year, Phase | and Phase Il have
become operational. Find out the total amount to be capitalized and to be expensed during the year.

[RTP-Nov-2022]

Ans.
Particualrs 4
1. | Interest expense on loan < 2,00,00,000 at 15% 30,00,000
2 | Total cost of Phases | and Il (% 34,00,000 +64,00,000) 98,00,000
3. | Total cost of Phases lll and IV (% 55,00,000 + % 68,00,000) 1,23,00,000
4. | Total cost of all 4 phases 2,21,00,000
5. | Total loan 2,00,00,000
6. | Interest on loan used for Phases | & I, based on proportionate 13,30,317
Loan amount = _30,00,000 x 98,00,000 (approx.
2,21,00,00
7. | Interest onloan used for Phases Il & IV, based on proportionate Loan amount 16,69,683
_ _30,00,000 x 1,23,00,000 (approx.)
2,21,00,000

Accounting treatment:
1. For Phasel and Phaselll

Since Phase | and Phase Il have become operational at mid of the year, half of the interest
amount of ¥ 6,65,158.50 (i.e. ¥ 13,30,317/2) relating to Phase | and Phase Il should be capitalized
(in the ratio of asset costs 34:64) and added to respective assets in Phase | and Phase Il and
remaining half of the interest amount of ¥ 6,65,158.50 (i.e. ¥ 13,30,317/2) relating to Phase | and

Phase Il should be expensed off during the year.
2. For Phase Ill and Phase IV

Interest of ¥ 16,69,683 relating to Phase Ill and Phase IV should be held in Capital Work-in-
Progress till assets construction work is completed, and thereafter capitalized in the ratio of
cost of assets. No part of this interest amount should be charged/expensed off during the year

since the work on these phases has not been completed yet.

66 NOTES
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Ind AS 36 - Impairment of Assets l _

CHAPTER IND AS ON ASSETS OF THE FINANCIAL
STATEMENTS

Ind AS 36

IMPAIRMENT OF ASSETS

VALUE IN USE: COMPUTATION

Cash flow of % 1,000 may be received in one year, two years or three years with probabilities of 10%,
60% and 30%, respectively. Calculate expected cash flows assuming applicable discount rate of 5%,
5.25% and 5.5% in year 1, 2 and 3, respectively.

Years Cash Flow P.V.F. Present value Probability Expected cash flow

1 1,000 0.95238 952.38 10% 95.24

2 1,000 0.90273 902.73 60% 541.64

3 1,000 0.85161 851.61 30% 255.48
Total 892.36

The expected present value is ¥ 892.36.
VALUE IN USE: COMPUTATION

(a) the estimated amount falls somewhere between ¥ 50 and % 250, but no amount in the range is

‘-ﬁ more likely than any other amount.
Eﬁ%’ (b) the estimated amount falls somewhere between % 50 and ¥,250, and the most likely amount is %
100. However, the probabilities attached to'each amount are unknown.
(o) the estimated amount will be ¥ 50 (10 per cent probability), ¥ 250 (30 per cent probability), or ¥
100 (60 per cent probability).

(@) the estimated expected cash flow is T 150 [(50 + 250)/2].
(b) the estimated expected cash flow is T 133.33 [(50 + 100 + 250)/3].
(0) the estimated expected cash flow is T 140 [(50 x 0.10) + (250 x 0.30) + (100 x 0.60)].

VALUE IN USE DETERMINATION:

& East Ltd. (East) owns a machine used in the manufacture of steering wheels, which are sold directly to

major car manufacturers.

o The machine was purchased on 1 st April, 20X1 at a cost of ¥ 500 000 through a vendor financing
arrangement on which interest is being charged at the rate of 10 per cent per annum.

o During the year ended 31st March, 20X3, East sold 10 000 steering wheels at a selling price of ¥ 190
per wheel.

o The most recent financial budget approved by East’'s managem ent, covering the period 1st April,
20X3 - 31st March, 20X8, including that the company expects to sell each steering wheel for ¥ 200
during 20X3-X4, the price rising in later years in line with a forecast inflation of 3 per cent per
annum.

o During the year ended 31st March, 20X4, East expects to sell 10 000 steering wheels. The number is
forecast to increase by 5 per cent each year until 31st March, 20X8.

o East estimates that each steering wheel costs ¥ 160 to manufacture, which includes ¥ 110 variable
costs, T 30 share of fixed overheads and % 20 transport costs.
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l Ind AS 36 - Impairment of Assets

tempt

o Costs are expected to rise by 1 per cent during 20 X4-X5, and then by 2 per cent per annum until
31st March, 20X8.

o During 20X5-X6, the machine will be subject to regular maintenance costing ¥ 50,000.

o In 20X3-X4, East expects to invest in new technology costing ¥ 100 000. This technology will reduce
the variable costs of manufacturing each steering wheel from ¥ 110 to % 100 and the share of fixed
overheads from ¥ 30 to T 15 (subject to the availability of technology, which is still under
development).

o East is depreciating the machine using the straight line method over the machine's 10 year
estimated useful life. The current estimate (based on similar assets that have reached the end of
their useful lives) of the disposal proceeds from selling the machine is ¥ 80 000 net of disposal
costs. East expects to dispose of the machine at the end of March, 20X8.

o East has determined a pre-tax discount rate of 8 per cent, which reflects the market's assessment
of the time value of money and the risks associated with this asset.

Assume a tax rate of 30%. What is the value in use of the machine in accordance with Ind AS 36?

Note: Round off cost p.a. / SP p.a. / No. of units to be sold to nearest integer. [Nov-2019]

Ans.

Calculation of the value in use of the machine owned by East Ltd. (East) includes the projected cash
inflow (i.e. sales income) from the continued use of the machine and projected cash outflows that are
necessarily incurred to generate those cash inflows (i.e cost of goods sold). Additionally, projected cash
inflows inc lude % 80,000 from the disposal of the asset in March, 20X8. Cash outflows include routing
capital expenditures of ¥ 50,000in 20X5-X6

As per Ind AS 36, estimates of future cash flows shall not include:

o Cash inflows from receivables

o Cash outflows from payables

o Cash inflows or outflows expected to arise from future restructuring to which an entity is not yet
committed

o Cash inflows or outflows expected to arise from improving or enhancing the asset’s performance

o Cash inflows or outflows from financing activities

° Income tax receipts or payments.

Hence in this case, cash flows do not include financing interest (i.e. 10%), tax (i.e. 30%) and capital
expenditures to which East has not yet committed (i.e. ¥ 100 000). They also do not include any savings in
cash outflows from these capital expenditure, as required by Ind AS 36.

The cash flows (inflows and outflows) are presented below in nominal terms. They include an increase of
3% per annum to the forecast price per unit (B), in line with forecast inflation. The cash flows are
discounted by applying a discount rate (8%) that is also adjusted for inflation.

Note: Figures are calculated on full scale and then rounded off to the nearest absolute value

Year ended 20X3-X4 20X4-X5| 20X5-20X6 20X6-X7 20X7-X8 Valuein
use

Quantity (A) 10,000 10,500 11,025 11,576 12,155

Price per unit(B) 3200 3206 3212 219 3225

Estimated cash %20,00,000| ¥21,63,000| ¥23,37,300| ¥25,35,144| %27,34,875
inflows (C=A x B)

Misc. cash inflow 380000
disposal
proceeds (D)

Total estimated %20,00,000| %21,63,000| %23,37,300| <25,35,144| <28,14,875
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Ind AS 36 - Impairment of Assets l

cashinflows
(E=C+D)

Cost per unit (F)

3160

162

3165

3168

171

Estimated cash
outflows (G = AxF)

(Z16,00,000)

(¥17,01,000)

(X18,19,125)

(% 19,44,768)

(% 20,78,505)

Misc. cash
outflow:
maintenance
costs (H)

(Z50,000)

Total estimated
cash outflows

(Z16,00,000)

(Z17,01,000)

(Z18,69,125)

(% 19,44,768)

(% 20,78,505)

(1=G+H)

Net cash Flows $4,00,000| %4,62,000] %4,68,175| %5,90,376| 27,36,370

(J=E-I)

Discount factor 0.9259 0.8573 0.7938 0.7350 0.6806

8% (K)

Discounted 23,70,360| 23,96,073| %3,71,637| %4,33,926| %5,01,173]320,73,169

future cash flows
(L=J x K)

IESYEN VALUE IN USE: FOREIGN CURRENCY CASH FLOWS

On March 31, 20X1, XYZ Ltd. makes following estimate of cash flows for one of its asset located in USA:

Ans.

Year Cash Flows
20X1-20X2 uss 8o
20X2-20X3 Uss$ 100
20X3-20X4 uss 20
Following information has been provided:
Particulars India USA
Applicable discount rate 15% 10%

Exchange rates are as follows:

As on

Exchange rate

March 31, 20X1

T45/US $

Ason Expected Exchange rate

March 31, 20X2 3 48/US S

March 31, 20X3 I51/USS

March 31, 20X4 I 55/USS

Calculate value in use as on March 31, 20X1.

Year Cash flows Present value Discounted cash
(US $) Factor @ 10% Flows (US $)

20X1-20X2 80 0.9091 72.73

20X2-20X3 100 0.8264 82.64

20X3-20X4 20 0.7513 15.03

Total Discounted cash flows in US $ 170.40

Exchange rate as on March 31, 20X1, i.e., date of T45/US S

calculating value in use

Value in use as on March 31, 20X1 37,668
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r l Ind AS 36 - Impairment of Assets

m VALUE IN USE : FUTURE RESTRUCTURING

Ans.

RT 6.

Ans.

by ] Saturn India Ltd is reviewing one of its business segments for impairment. The carrying value of its net

assets is 40 million. Management has produced two computations for the value-in-use of the business
segment. The first value of ¥ 36 million excludes the benefit to be derived from a future reorganization,
: but the second value of % 44 million includes the benefits to be derived from the future reorganization.
There is not an active market for the sale of the business segments.

Whether the business segment needs to be Impaired?

The benefit of the future reorganization should not be taken into account in calculating value-in-use.
Therefore, the net assets of the business segment will be impaired by ¥ 4 million because the value-in-
use of T 36 million is lower than the carrying value of ¥ 40 million. The value-in-use can be used as the
recoverable amount as there is no active market for the sale of the business segment.

Individual Asset

INDIVIDUAL ASSET : COMPUTATION OF IL

PQR Ltd. is the company which has performed well in the past but one of its major assets, an item of
equipment, suffered a significant and unexpected deterioration in performance. Management expects to
use the machine for a further four years after 31 st March 20X6, but at a reduced level. The equipment
will be scrapped after four years. The financial accountant for PQR Ltd. has produced a set of cash -flow
projections for the equipment for the next Four years, ranging from optimistic to pessimistic. CFO
thought that the projections ' were too conservative, and he intended to use the highest figures each
year. These were as follows:

3’000
Year ended 31st March 20X7 276
Year ended 31st March 20X8 192
Year ended 31st March 20X9 120
Year ended 31st March 20Y0 114

The above cash inflows should be assumed to occur on the last day of each financial year. The pre-tax
discount rate is 9%. The machine could have been sold at 31st March 20X6 for ¥ 6,00,000 and related
selling expenses in this regard could have been % 96,000. The machine had been re valued previously, and
at 31 st March 20X6 an amount of T 36,000 was held in revaluation surplus in respect of the asset. The
carrying value of the asset at 31st March 20X6 was % 660,000. The Indian government has indicat ed that
it may compensate the company for any loss in value of the assets up to its recoverable amount.

Calculate impairment loss, if any and revised depreciation of asset. Also suggest how Impairment loss, if

any would be set off and how compensation from government be accounted for? [SM, May-2020]
Carrying amount of asset on 31 st March 20X6 = %6,60,000
Calculation of Value in Use:
Year ended Cash flow | Discount fFactor @ 9% Amount
g g
31st March, 20X7 2,76,000 0.9174 2,53,202
31st March, 20X8 1,92,000 0.8417 1,61,606
31st March, 20X9 1,20,000 0.7722 92,664
31st March, 20Y0 1,14,000 0.7084 80,758
Total (Value in Use) 5,88,230
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Ind AS 36 - Impairment of Assets l _

Calculation of Recoverable amount:

Particulars Amount )
Value in use 5,88,230
Fair value less costs of disposal (6,00,000 - 96,000) 5,04,000
Recoverable amount 5,88,230
(Higher of value in use and fair value less costs of disposal)

Calculation of Impairment loss:

Particulars Amount ()
Carrying amount 6,60,000
Less: Recoverable amount (5,88,230)
Impairment loss 71,770

Calculation of Revised carrying amount:

Particulars Amount )
Carrying amount 6,60,000
Less: Impairment loss (71,770)
Revised carrying amount 5,88,230

Calculation of Revised Depreciation:
Revised carrying amount — Residual value
Remaining life = (5,88,230-0) /4= 1,47,058 per annum

Set off of Impairment loss:

The impairment loss of ¥ 71,770 must First be set off against-any revaluation surplus in relation to the
same asset. Therefore, the revaluation surplus of ¥ 36,000 is eliminated against impairment loss, and
the remainder of the impairment loss ¥ 35,770 (X 71,770 % 36,000) is charged to profit and loss.

Treatment of Government compensation:

Any compensation by government would be accounted for as such when it becomes receivable. At this
time, the government has only stated that it may reimburse the company and therefore credit should
not be taken For any potential government receipt.

INDIVIDUAL ASSET : DRS COSTS

A company operates a mine in a country where legislation requires that the owner must restore the site
ra=y on completion of its mining operations. The cost of restoration includes the replacement of the
"+ overburden, which must be removed before mining operations commence. A provision for the costs to
replace the overburden was recognised as soon as the overburden was removed. The amount provided
was recognised as part of the cost of the mine and is being depreciated over the mine’s useful life. The
carrying amount of the provision for restoration costs is ¥ 500, which is equal to the present value of the
restoration costs.

The entity is testing the mine for impairment. The cash-generating unit for the mine is the mine as a
whole. The entity has received various offers to buy the mine at a price of around ¥ 800. This price
reflects the Fact that the buyer will assume the obligation to restore the overburden. Disposal costs for
the mine are negligible. The value in use of the mine is approximately ¥ 1,200, excluding restoration
costs. The carrying amount of the mine is ¥ 1,000.
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The cash-generating unit’s fair value less costs of disposal is ¥ 800. This amount considers restoration
costs that have already been provided for. As a consequence, the value in use for the cash-generating
unit is determined after consideration of the restoration costs and is estimated to be ¥ 700 (% 1,200 less*
500). The carrying amount of the cash-generating unit is ¥ 500, which is the carrying amount of the mine
(X 1,000) less the carrying amount of the provision for restoration costs (¥ 500). Therefore, the
recoverable amount of the cash-generating unit exceeds its carrying amount.

m INDIVIDUAL ASSET : REVALUATION AND IL

= From the following details of an asset, find out:

(a) Impairment loss and its treatment.
(b) Current year depreciation for the year end.
= Particulars of assets:

Cost of asset ¥ 56 lakh
Useful life 10 years
Salvage value Nil
Carrying value at the beginning of the year % 27.30 lakh
Remaining useful life 3 years
Recoverable amount at the beginning of the year % 12 lakh
Upward revaluation done in last year % 14 lakh

Ans.

Impairment loss

Impairment loss = Carrying amount of the asset — Recoverable amount

=% 27.30 lakh—% 12 lakh
=3 15.30 lakh

Treatment of impairment loss

As per Ind AS 36, impairment loss (whether of an.individual asset of a CGU) is recognised in the following

manner:

(a) Impairment loss of a revalued asset: It is recognised in other comprehensive income to the
extent that the impairment loss does not exceed the amount held in the revaluation surplus for
that same asset. The balance, if any, is recognised as an expense in the statement of profit and
loss.

(b) Impairment loss of other assets: Impairment loss of any other asset should be recognised as an
expense in the statement of profit and loss.

Since, the asset in question has been revalued upwards, the impairment loss will be adjusted first against

the revaluation surplus of % 14 lakh. The balance amount of ¥ 1.30 lakh will be recognised as an expense

in the profit and loss account.

Current year depreciation
Revised carrying amount (after recognising impairment loss) ¥ 12 lakh

Remaining useful life 3 years
Salvage value Nil
Annual depreciation (12/3) % 4 lakh

TN (NO1VIDUAL ASSET : REVALUATION AND IL

(] On 1 January Year 1, Entity Q purchased a machine costing ¥ 2,40,000 with an estimated useful life of 20
WI%€ years and an estimated zero residual value. Depreciation is computed on straight-line basis. The asset
- had been re-valued on 1 January Year 3 to X 2,50,000, but with no change in useful life at that date. On
L 1 January Year 4 an impairment review showed the machine’s recoverable amount to be ¥ 1,00,000 and
its estimated remaining useful life to be 10 years.
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Ind AS 36 - Impairment of Assets l _

Calculate:
a) The carrying amount of the machine on 31 December Year 2 and the revaluation surplus arising on
1 January Year 3.
b) The carrying amount of the machine on 31 December Year 3 (immediately before the impairment).
c¢) Theimpairment loss recognised in the year to 31 December Year 4 and its treatment thereon
d) The depreciation charge in the year to 31 December Year 4.
Note:
During the course of utilization of machine, the company did not opt to transfer part of the revaluation
surplus to retained earnings.

Ans.

(a) Calculation of Carrying amount of machine at the end of Year 2 4
Cost of machine 2,40,000
Accumulated depreciation for 2 years [2 years x (2,40,000 + 20)] (24,000)
Carrying amount of the machine at the end of Year 2 2,16,000

(b) Calculation of carrying amount of the machine on 31 December Year 3 4
Carrying amount at the beginning of Year 3 2,16,000
Revaluation done at the beginning of Year 3 2,50,000
Revaluation surplus 34,000

(c) Calculation of Impairment loss at the end of Year 4

When machine is revalued on 1 January Year 3, depreciation is charged on the revalued amount
over its remaining expected useful life.

Valuation at 1 January (re-valued amount) 2,50,000
Accumulated depreciation in Year 3 (2,50,000/ 18) (13,889)
Carrying amount of the asset at the end of Year 3 2,36,111
On 1 January Year 4, recoverable amount of the machine 1,00,000
Impairment loss(2,36,111 — 1,00,000) 1,36,111

An impairment loss of T 34,000 will be taken to other comprehensive income (reducing the
revaluation surplus for the asset to zero)

The remaining impairment loss of ¥ 1,02,111 (1,36,111 — 34,000) is recognised in the Statement
of Profit and Loss for the Year 4.

(d) Calculation of depreciation charge in the Year 4
Carrying value of the machine at the beginning of Year 4 % 1,00,000
Estimated remaining useful life 10 years
Depreciation chargeis (¥ 1,00,000 / 10 years) 310,000

m INDIVIDUAL ASSET : FUTURE RESTRUCTURING

A machine has suffered physical damage but is still working, although not as well as before it was

! |-:-';.-'_ damaged. The machine’s fair value less costs of disposal is less than its carrying amount. The machine

::'#ﬁr L does not generate independent cash inflows. The smallest identifiable group of assets that includes the

machine and generates cash inflows that are largely independent of the cash inflows from other assets is

the production line to which the machine belongs. The recoverable amount of the production line shows

that the production line taken as a whole is not impaired.

Assumption 1: budgets/forecasts approved by management reflect no commitment of management to
replace the machine.

Assumption 2: budgets/forecasts approved by management reflect a commitment of management to
replace the machine and sell it in the near future. Cash flows from continuing use of the
machine until its disposal are estimated to be negligible.
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1. The recoverable amount of the machine alone cannot be estimated because the machine’s value

in use:
a) may differ from its fair value less costs of disposal; and
b) can be determined only for the cash-generating unit to which the machine belongs (the

production line).
The production line is not impaired. Therefore, no impairment loss is recognised for the machine.
Nevertheless, the entity may need to reassess the depreciation period or the depreciation
method for the machine. Perhaps a shorter depreciation period or a faster depreciation method
is required to reflect the expected remaining useful life of the machine or the pattern in which
economic benefits are expected to be consumed by the entity.

2. The machine’s value in use can be estimated to be close to its fair value less costs of disposal.
Therefore, the recoverable amount of the machine can be determined and no consideration is
given to the cash-generating unit to which the machine belongs (i.e. the production line).
Because the machine’s fair value less costs of disposal is less than its carrying amount, an
impairment loss is recognised for the machine.

After the allocation procedures have been applied, a liability is recognised for any remaining amount of
an impairment loss for a cash-generating unit if, and only if, that is required by another Indian Accounting
Standard.

LS N AN INDIVIDUAL ASSET : FOREIGN CURRENCY

Ans.

1] The UK entity with a sterling functional currency has a property located in US, which was acquired at a

cost of USS 1.8 million when the exchange rate was £1 = USS 1.60. The property is carried at cost. At the
balance sheet date, the recoverable-amount of the property (as a result-of an impairment review)
amounted to USS 1.62 million, when the exchange rate £1 = USS 1.80. Compute the amount which is to
be reported in Profit & Loss of UK entity as a result of impairment, if any. Ignore depreciation. Also
analyse the total impairment loss on account of change in value due to impairment component and
exchange component. [RTP-Nov-2020]

Ignoring depreciation, the loss that would be reported in the Profit and Loss as a result of the
impairment is as follows:

£
*Carrying value at balance sheet date -USS 16,20,000 @ £1.8 = 9,00,000
Historical cost- US$ 18,00,000 @ £ 1.6 = 11,25,000
Impairment loss recognised in profit and loss (2,25,000)
The components of the impairment loss can be analysed as follows:
Change in value due to impairment = US$ 1,80,000 @ £ 1.8 =
Exchange component of change = (1,00,000)
US$ 18,00,000 @ 1.8 — USS 18,00,000 @ £ 1.6 (1,25,000)

*Recoverable amount being less than cost becomes the carrying value.

INDIVIDUAL ASSET : DEFERRED TAX EFFECTS

Mercury ltd has an identifiable asset with a carrying amount of ¥ 1,000. Its recoverable amount is ¥ 650.
The tax rate is 30% and the tax base of the asset is ¥ 800. Impairment losses are not deductible for tax
purposes. The effect of the impairment loss is as follows:
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Identifiable | Impairment Identifiable

assets before loss assets after

impairment loss impairment loss

g g g

Carrying amount 1,000 (350) 650
Tax Base 800 - 800
Taxable (deductible) temporary difference 200 (350) (150)
Deferred tax liability (asset) at 30% 60 (105) (45)

In accordance with Ind AS 12, the entity recognises the deferred tax asset to the extent that it is
probable that taxable profit will be available against which the deductible temporary difference can be

utilised.
m GOODWILL : ALLOCATION OF IL

XYZ Limited has a cash-generating unit ‘Plant A" as on 1st April, 20X1 having a carrying amount of ¥ 1,000
¢ crore. Plant A was acquired under a business combination and goodwill of ¥ 200 crore was allocated to it.

f March, 20X2, Plant A has a recoverable amount of ¥ 600 crore. Calculate the impairment loss on Plant A.
Also, prescribe its allocation as per Ind AS 36.

Ans.
Particulars Goodwill Identifiable assets Total
(R in crore) (R in crore) (R in crore)
Historical cost 200 1,000 1,200
Depreciation (20X1-20X2) - (100) (100)
Carrying amount 200 900 1,100

Since, the recoverable amount is ¥ 600 crore, there is an impairment loss of ¥ 500 crore. The impairment
loss of T 500 crore should be allocated to goodwill first, and then to the other identifiable assets, i.e., ¥
200 crore to goodwill and % 300 crore to identifiable assets of Plant A.

(Rin crore)
Particulars Goodwill Identifiable assets Total
Impairment loss (200) (300) (500)
Carrying amount after impairment loss - 600 600

m GOODWILL : ALLOCATION OF IL

Entity A acquires Entity B for ¥ 50 million, of which % 35 million is the fair value of the identifiable assets
i _; acquired and liabilities assumed. The acquisition of B Ltd. is to be integrated into two of Entity A’s CGUs
) A% with the net assets being allocated as follows: T in million

CGU1 | CGU2 | Total

Fair value of acquired identifiable tangible and intangible assets 25 10 35

In addition to the net assets acquired that are assigned to CGU 2, the acquiring entity expects CGU 2 to
benefit from certain synergies related to the acquisition (e.g. CGU 2 is expected to realise higher sales of
its products because of access to the acquired entity's distribution channels). There is no synergistic
goodwill attributable to other CGUs.

Entity A allocated the purchase consideration of the acquired business to CGU 1 and CGU 2 as ¥ 33
million and % 17 million respectively.

Determine the allocation of goodwill to each CGU?
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If goodwill is allocated to the CGUs based on the difference between the purchase consideration

and the fair value of net assets acquired ie direct method, the allocation would

be as follows: (All figures are ¥ in million, unless otherwise specified)

CGU1 | CGU2 | Total

Allocation of Purchase consideration

Less: Acquired identifiable tangible and intangible assets

(25) (10| (35)

Goodwill assigned to CGUs

8 7 15

GOODWILL : ALLOCABLE GOODWILL

Goodwill had previously been allocated to cash-generating unit A. The goodwill allocated to A cannot be
identified or associated with an asset group at a level lower than A, except arbitrarily. A is to be divided
and integrated into three other cash-generating units, B, C and D. How goodwill to be reallocated.

mcooowm: BUSINESS COMBINATION

a level lower than A, it is reallocated to units B, C and D on the basis of the relative values of the three
‘_ 44 portions of A before those portions are integrated with B, Cand D.

Sun Ltd'is an entity with various subsidiaries. The entity closes its books of account at every year ended
on 31st March. On 1st July, 20X1 Sun ltd acquired an 80% interest in Pluto Ltd. Details of the acquisition
were as follows:

. .. M a. sunltd acquired 800,000 shares in Pluto Ltd by issuing two equity shares for every five acquired. The
fair value of Sun Ltd's share on 1stJuly, 20X1 was % 4 per share and the fair value of a Pluto’s share
was < 1.40 per share. The costs of issue were 5% per share.

b. Sun Ltd incurred further legal and professional costs of ¥ 100,000 that directly related to the
acquisition.
c. The Fair values of the identifiable net assets of Pluto Ltd at 1st July, 20X1 were measured at T 1.3
million. Sun Ltd initially measured the non-controlling interest in Pluto Ltd at fair value. They used
the market value of a Pluto Ltd share for this purpose. No impairment of goodwill arising on the

acquisition of Pluto Ltd was required at 31st March, 20X2 or 20X3.

Pluto Ltd comprises three cash generating units A, B and C. When Pluto Ltd was acquired the directors of
Sun Ltd estimated that the goodwill arising on acquisition could reasonably be allocated to units A:B:C
on a 2:2:1 basis. The carrying values of the assets in these cash generating units and their recoverable
amounts are as follows:

Unit Carrying value (before goodwill allocation) Recoverable amount
<'000 <'000
A 600 740
B 550 650
C 450 400
Required:
(i) Compute the carrying value of the goodwill arising on acquisition of Pluto Ltd in the
consolidated Balance Sheet of Sun ltd at 31st March, 20X4 following the impairment review.
(ii) Compute the total impairment loss arising as a result of the impairment review, identifying how

much of this loss would be allocated to the non-controlling interests in Pluto (td.
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Ans.
1. Computation of goodwill on acquisition
Particular Amount (% ‘'000)
Cost of investment (8,00,000 x 2/5 x% 4) 1,280
Fair value of non-controlling interest (2,00,000 x¥ 1-4) 280
Fair value of identifiable net assets at date of acquisition (1,300)
So goodwill equals 260

Acquisition costs are not included as part of the fair value of the consideration given under Ind
AS 103, Business Combination.

2. Calculation of impairment loss
Unit Carrying value Recoverable Impairment
Before Allocation of After Amount Loss
Allocation goodwill (2:2:1) Allocation
A 600 104 704 740 Nil
B 550 104 654 650 4
C 400% 52 452 400 52

* After writing down assets in the individual CGU to recoverable amount.

3. Calculation of closing goodwill
Goodwill arising on acquisition (W1) 260
Impairment loss (W2) (56)
So closing goodwill equals 204
4, Calculation of overall impairment loss
on goodwill (W3) 56
on assets in unit C (450 - 400) 50
So total loss equals 106
% 21.2 (20%) of the above is allocated to the NCI with the balance allocated to the shareholders
of Sun ltd.

1SR YAN GOODWILL : BUSINESS COMBINATION

2 EI NCI measurement and Goodwill impairment
A A Ltd acquires 80% shares of a subsidiary B Ltd. for ¥ 3,200 thousand. At the date of acquisition, B Ltd.'s
identifiable net assets is ¥ 3,000 thousand. A elects to measure NCI at proportionate share of net

identifiable assets. It recognizes

Z in thousand

Purchase Consideration 3,200

NCI (3,000 x 20%) 600

3,800

Less: Net Assets (3,000)

Goodwill 800
At the end of next financial year, B Ltd.'s carrying amount is reduced to ¥ 2,700 thousand (excluding

goodwill).

Recoverable amount of B Ltd.’s assets is
Case (i) ¥ 2,000 thousand, Case (ii) ¥ 2,800 thousand
Calculate impairment loss allocable to Parent and NCI in both the cases.
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Case (i) % in thousand

Particulars Goodwill | Other Asset| Total
Carrying amount 800 2,700 3,500
Unrecognised NCI (notional) [(800 / 80%) x 20%)] 200 - 200
Notional Total 1,000 2,700 | 3,700
Recoverable amount - -| 2,000
Total Impairment loss - - | (1,700)
Impairment loss recognised in CFS (800) (700) | (1,500)
Carrying amount after impairment - 2,000 2,000
Impairment loss on: Parent NCI
Goodwill (800) -
Other assets (560) (140)
Total (1,360) (140)
Case (ii)
Particulars Goodwill [ Other Asset Total
Carrying amount 800 2,700 3,500
Unrecognised NCI (notional) (800 / 80% x 20%) 200 - - 200
Notional Total 1,000 2,700 3,700
Recoverable amount - - 2,800
Total Impairment loss - - (900)
Impairment loss recognised in CFS (900 x 80%) (720) - (720)
Carrying amount afterimpairment (800 —720) 80 2,700 2,780
Impairment loss on: Parent NCI
Goodwill (720) -
Other assets - -
Total (720) -

It is to be noted that since an entity measures NCI at its proportionate interest in the net identifiable
assets of a subsidiary at the acquisition date, rather than at fair value, goodwill attributable to NClI is not
recognised in the parent’'s consolidated financial statements and so the impairment loss on such
goodwill not recognised

m CGU : BUSINESS COMBINATION

Parent acquires an 80% ownership interest in Subsidiary for ¥ 2,100 on April 1, 20X1. At that date,
Subsidiary’s net identifiable assets have a fair value of ¥ 1,500. Parent chooses to measure the non-
+¥. controlling interests as the proportionate interest of Subsidiary’s net identifiable assets. The assets of
Subsidiary together are the smallest group of assets that generate cash inflows that are largely
independent of the cash inflows from other assets or groups of assets. Because other cash-generating
units of Parent are expected to benefit from the synergies of the combination, the goodwill of ¥ 500
related to those synergies has been allocated to other cash-generating units within Parent. On March 31,
20X2, Parent determines that the recoverable amount of cash-generating unit Subsidiary is ¥ 1,000. The
carrying amount of the net assets of Subsidiary, excluding goodwill, is ¥ 1,350. Allocate the impairment
loss on March 31, 20X2.
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Ans.

Non-controlling interests is measured as the proportionate interest of Subsidiary’s net identifiable
assets, i.e., ¥ 300 (20% of T 1,500). Goodwill is the difference between the aggregate of the consideration
transferred and the amount of the non-controlling interests (X 2,100 + ¥ 300) and the net identifiable
assets (% 1,500), i.e., ¥ 900.

Since, the assets of Subsidiary together are the smallest group of assets that generate cash inflows that
are largely independent of the cash inflows from other assets or groups of assets, therefore, Subsidiary
is a cash-generating unit. Because other cash-generating units of Parent are expected to benefit from
the synergies of the combination, the goodwill of ¥ 500 related to those synergies has been allocated to
other cash-generating units within Parent. Because the cash-generating unit comprising Subsidiary
includes goodwill within its carrying amount, it should be tested for impairment annually, or more
frequently if there is an indication that it may be impaired.

Testing Subsidiary (cash-generating unit) for impairment

Goodwill attributable to non-controlling interests is included in Subsidiary’s recoverable amount of ¥
1,000 but has not been recognised in Parent’s consolidated financial statements. Therefore, the carrying
amount of Subsidiary should be grossed up to include goodwill attributable to the non-controlling
interests, before being compared with the recoverable amount of ¥ 1,000. Goodwill attributable to
Parent’s 80% interest in Subsidiary at the acquisition date is ¥ 400 after allocating ¥ 500 to other cash-
generating units within Parent. Therefore, goodwill attributable to the 20% non-controlling interests in
Subsidiary at the acquisition date is ¥ 100.

Testing subsidiary for impairment on March 31, 20X2

On March 31, 20X2 lo le Total
R)
Carrying amount 1,350 | 1,750
Unrecognised non-controlling interests 100 - 100
Adjusted carrying amount 500 1,350 | 1,850
Recoverable amount 1,000
Impairment loss __ 850

Allocating the impairment loss
The impairment loss of ¥ 850 should be allocated to the assets in the unit by first reducing the carrying
amount of goodwill.

Therefore, ¥ 500 of the ¥ 850 impairment loss for the unit is allocated to the goodwill. If the partially-
owned subsidiary is itself a cash-generating unit, the goodwill impairment loss should be allocated to the
controlling and non-controlling interests on the same basis as that on which profit or loss is allocated. In
this case, profit or loss is allocated on the basis of relative ownership interests. Because the goodwill is
recognised only to the extent of Parent’s 80% ownership interest in Subsidiary, Parent recognises only
80% of that goodwill impairment loss (i.e., ¥ 400).

The remaining impairment loss of ¥ 350 is recognised by reducing the carrying amounts of Subsidiary's
identifiable assets.

Allocation of the impairment loss for Subsidiary on March 31, 20X2

On March 31, 20X2 Goodwill of | Netidentifiable Total
subsidiary assets

() R) ()

Carrying amount 400 1,350 1,750

Impairment loss (400) (350) (750)

Carrying amount after impairment loss - 1,000 1,000

e se] 1
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l Ind AS 36 - Impairment of Assets

uccess tutorials

“ GOODWILL : PARTIAL SALE

A[&] An entity sells For ¥ 100 an operation that was part of a cash-generating unit to which goodwill has been

allocated. The goodwill allocated to the unit cannot be identified or associated with an asset group at a
level lower than that unit, except arbitrarily. The recoverable amount of the portion of the cash-

% generating unit retained is ¥ 300.

Since the goodwill allocated to the cash-generating unit cannot be non-arbitrarily identified or
associated with an asset group at a level lower than that unit, the goodwill associated with the operation
disposed of is measured on the basis of the relative values of the operation disposed of and the portion
of the unit retained. Therefore, 25 per cent of the goodwill allocated to the cash-generating unit is
included in the carrying amount of the operation that is sold.

If an entity reorganises its reporting structure in a way that changes the composition of one or more
cash-generating units to which goodwill has been allocated, the goodwill shall be reallocated to the units
affected. This reallocation is performed by using a relative value approach similar to that used when an
entity disposes of an operation within a cash-generating unit, unless the entity can demonstrate that
some other method better reflects the goodwill associated with the reorganised units.

IEEZN  MPAIRMENT : GoODWILL

On 1st April, 20X1, Sun Ltd. has acquired 100% shares of Earth Ltd. For ¥ 30 lakhs. Earth Ltd. has 3 cash-

4::_ p generating units A, B and C with fair value of ¥ 12 lakhs, X 8 lakhs and X 4 lakhs respectively. The company
3% recognizes goodwill of %6 lakhs that relates to CGU ‘C’ only.

Ans.

During the financial year 20X2-20X3, the CFO of the company has a view that there is no requirement of
any impairment testing for any CGU since their recoverable amount is comparatively higher than the
carrying amount and believes there is no indicator of impairment.

Analyse whether the view adopted by the CFO of Sun Ltd is in compliance of the Ind AS. If not, advise the
correct treatment in accordance with relevant Ind AS [MTP-May-2022]

The above treatment needs to be examined in the light of the provisions giveniin‘ind AS 36: Impairment
of Assets.

Para 9 of Ind AS 36 ‘Impairment of Assets’ statesthat “An entity shall assess at the end of each reporting
period whether there is any indication that an asset may be impaired. If any such indication exists, the
entity shall estimate the recoverable amount of the asset.”

Further, paragraph 10(b) of Ind AS 36 states that:

“Irrespective of whether there is any indication of impairment, an entity shall also test goodwill acquired
in a business combination for impairment annually.”

Sun Ltd has not tested any CGU on account of not having any indication of impairment is partially correct
i.e. in respect of CGU A and B but not for CGU C. Hence, the treatment made by the Company is not in
accordance with Ind AS 36.

Accordingly, impairment testing in respect of CGU A and B are not required since there are no indications
of impairment. However, Sun Ltd shall test CGU C irrespective of any indication of impairment annually
as the goodwill acquired on business combination is fully allocated to CGU ‘C'.

Corporate Assets

IESYEEN CORPORATE ASSETS : ALLOCATION OF IL

Earth Infra Ltd has two cash-generating units, X and Y. There is no goodwill within the units’ carrying

i= values. The carrying values of the CGUs are CGU A for ¥ 20 million and CGU B for % 30 million. The

company has an office building which it is using as an office headquarter and has not been included in
the above values and can be allocated to the units on the basis of their carrying values. The office
building has a carrying value of ¥ 10 million. The recoverable amounts are based on value-in-use of T 18
million for CGU A and X 38 million for CGU B.

Required: Determine whether the carrying values of CGU A and B are impaired.
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Ans.
The office building is a corporate asset which needs to be allocated to CGU A and B on a reasonable and
consistent basis:

A B Total
Carrying value of CGUs 20 30 50
Allocation of office building 4 6 10
(office building is allocated in the ratio of Carrying value of CGU's) - - -
Carrying value of CGU after Allocation of corporate asset 24 36 60
Recoverable Amount 18 38 56
Impairment Loss 6 -

The impairment loss will be allocated on the basis of 4/24 against the building (T 1 million) and 20/24
against the other assets (% 5 million).

mconpomﬂs ASSETS : ALLOCATION OF IL
‘*'I

Pacific Ocean Railway Ltd. has three Cash Generating units namely Train, Railway station and Railway
tracks, the carrying amounts of which as on March 315, 2020 are as follows

Cask Generating units Carrying amount Remaining useful life
(R In crore)
Train 1,500 10
Railway station 2,250 20
Railway tracks 3,300 20

Pacific Ocean Railway Ltd. also has two Corporate Assets having a remaining useful life of 20 years.

(R in crore)
Corporate Carrying Remarks
Assets amount
Land 1,800 | The carrying amount of Land can be allocate a reasonable basis (i.e.,
pro rata basis) to the individual cash-generating units.
Buildings 600 | The carrying amount of Buildings cannot be allocated on a
reasonable basis to the individual cash-generating units.
Recoverable amount as on March 311% 2020 is as follows :
Cash Generating units Recoverable amount
(R in crore)
Train 1,800
Railway station 2,700
Railway tracks 4,200
Company as a whole 9,600
Calculate the impairment loss, if any. Ignore decimals. [Nov-2020, MTP-May-2022]

Ans.

Allocation of corporate assets

The carrying amount of land is allocated to the carrying amount of each individual cash generating unit.
A weighted allocation basis is used because the estimated remaining useful life of Train's cash-
generating unit is 10 years, whereas the estimated rem aining useful lives of Railway station and Railway
tracks's cash -generating units are 20 years.
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(R in crore)

Particulars Train Railway Railway Total
Carrying amount (a) 1,500 2,250 3,300 | 7,050
Useful life 10 years 20 years 20 years -
Weight based on useful life 1 2 2 -
Carrying amount (after assigning 1,500 4,500 6,600 | 12,600
weight) 12% 36% 52% | 100%
Pro-rata allocation of Land (1,500/12,600) | (4,500/12,600) | (6,600/12,600)
Allocation of carrying amount of 216 648 936 | 1,800
Land (b)
Carrying amount (after allocation of 1,716 2,898 4,236 | 8,850
Land) (a+b)
Calculation of impairment loss
Step I: Impairment losses For individual cash -generating units and its allocation:
(a) Impairment loss of each cash-generating units
(R in crore)
Particulars Train Railway Railway
station tracks
Carrying amount (after allocation of 1,716 2,898 4,236
land) Recoverable amount 1,800 2,700 4,200
Impairment loss - _198 _ 36
(b) Allocation of the impairment loss
(R in crore)
Allocation to Railway Railway
station tracks
Land 44 [198'x (648 / 8 [36 x (936 /
2,898)] 4,236)]
Other assets in cash- [198 x 2,250/ [36 x (3,300/
generating units 154 2,898)] 28 4,236)]
Impairment loss 198 36

Step II: Impairment losses for the larger cash -generating unit, i.e., Pacific Ocean Railway Ltd. as a

whole
(R in crore)
Particulars Train| Railway Railway Land Building Pacific Ocean
station tracks Railway Ltd.
Carrying amount 1,500 2,250 3,300 1,800 600 9,450
Impairment loss (Step 1) - (154) (28) (52) - (234)
Carrying amount (after 1,500 2,096 3,272 1,748 600 9,216
Step 1)
Recoverable amount 9,600
Impairment loss for the ‘larger’ cash-generating unit Nil
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ABC Ltd. has three cash-generating units: A, B and C, the carrying amounts of which as on March 31, 20X1
are as follows:

m CORPORATE ASSETS

Cash-generating units Carrying amount (R in crore) Remaining useful life
A 500 10
B 750 20
C 1,100 20
ABC Ltd. also has two corporate assets having a remaining useful life of 20 years.
(R in crore)
Corporate Carrying Remarks
asset amount
X 600 The carrying amount of X can be allocated on a reasonable basis
(i.e., pro rata basis) to the individual cash-generating units.
Y 200 The carrying amount of Y cannot be allocated on a reasonable
basis to the individual cash- generating units.
Recoverable amount as on March 31, 20X1 is as follows:

Cash-generating units Recoverable amount (R in crore)
A 600
B 900
C 1,400
ABC Ltd. 3,200

Calculate the impairment loss, if any. Ignore decimals.

Ans.

Allocation of corporate assets

The carrying amount of X is allocated to the carrying amount of each individual cash- generating unit. A
weighted allocation basis is used because the estimated remaining useful life of A’s cash-generating unit
is 10 years, whereas the estimated remaining useful lives of B and C's cash-generating units are 20 years.

(Rin crore)
Particulars A B (@ Total
Carrying amount 500 750 1,100 2,350
Useful life 10 years 20 years 20 years —
Weight based on useful life 1 2 2 —
Carrying amount (after assigning weight) 500 1,500 2,200 4,200
Pro-rata allocation of X 12% 36% 52% 100%
(500/4,200) | (1,500/4,200) | (2,200/4,200) 600
Allocation of carrying amount of X 72 216 312 2,950
Carrying amount (after allocation of X) 572 966 1,412
Calculation of impairment loss
Step I: Impairment losses For individual cash-generating units and its allocation
(@) Impairment loss of each cash-generating units
(Rin crore)
Particulars CA RA IL
Carrying amount (after allocation of X) A 572 600 -
Recoverable amount B 966 900 66
Impairment loss C 1,412 1400 12
(b) Allocation of the impairment loss
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(Rin crore)

Allocation to B C
X 15| (66x216/966) | 3 (12x312/1,412)
Other assets in cash- generating units 51| (66x750/966) 9 (12x1,100/ 1,412)
Impairment loss 66 12
Step II: Impairment losses fFor the larger cash-generating unit, i.e., ABC Ltd. as a whole
(Rin crore)
Particulars A B (@ X Y ABC Ltd.
Carrying amount 500 | 750 | 1,100 | 600 | 200 3,150
Impairment loss (Step 1) _-| (1) 9Qlaus) | - (78)
Carrying amount (after Step I) 500 | 699 | 1,091 | 582 | 200 3,072
Recoverable amount 3,200
Impairment loss for the ‘larger’ cash-generating unit Nil

Reversal of IL

m REVERSAL OF IL : NEARING OF CASH FLOWS

Ans.

Assuming in the above question, as on March 31, 20X3, there is no change in the estimated future cash
flows and discount rate. Fair value less costs to sell as on March 31, 20X3 is ¥ 40 crore. How should it be

Financial year Estimated cash flows Present value factor @ Present value
(Rin crore) 10%
20X3-20X4 30 0.9091 27.27
20X4-20X5 40 0.8264 33.06
20X5-20X6 10 0.7513 7.51
67.84

The recoverable amount of the machinery is T 67.84 crore (higher of value.in use of T 67.84 crore and fair
value less costs to sell of % 40 crore). Carrying amount of the-machinery at the end of the year 20X2 is %
56.48 crore (after providing for two years depreciation (100-20-4.69)-18.83).

However, as per paragraph 116 of Ind AS 36, an impairment loss is not reversed just because of the
passage of time (sometimes called the ‘unwinding’ of the discount), even if the recoverable amount of
the asset becomes higher than its carrying amount.

Therefore, the impairment loss of ¥ 4.69 crore should not be reversed.

m REVERSAL OF IL : COMPUTATION
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On 1st April 20X1, Venus ltd acquired 100% of Saturn ltd For ¥ 4,00,000. The Ffair value of the net
identifiable assets of Saturn ltd was % 3,20,000 and goodwill was ¥ 80,000. Saturn ltd is in coal mining
business. On 31st March, 20X3 the government has cancelled licenses given to it in few states.

As a result Saturn’s ltd revenue is estimated to get reduce by 30%. The adverse change in market place
and regulatory conditions is an indicator of impairment. As a result, Venus ltd has to estimate the
recoverable amount of goodwill and net assets of Saturn ltd on 31st March, 20X3.

Venus ltd uses straight line depreciation. The useful life of Saturn’s ltd assets is estimated to be 20 years
with no residual value. No independent cash inflows can be identified to any individual assets. So the
entire operation of Saturn ltd is to be treated as a CGU. Due to the regulatory entangle it is not possible
to determine the selling price of Saturn ltd as a CGU. Its value in use is estimated by the management at
¥ 2,12,000.

Suppose by 31st March, 20X5 the government reinstates the licenses of Saturn Ltd. The management
expects a favourable change in net cash flows. This is an indicator that an impairment loss may have
reversed. The recoverable amount of Saturn’s ltd net asset is re-estimated. The value in use is expected
to be ¥ 3,04,000 and net selling price is expected to be ¥ 2,90,000.
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